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Question Number : 1 Question Id : 630680366667 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2023 278 ' 855 27 ES-e3| VO BDS)) T TSI DEYCS 28MPON?
Options :

BER19)

2. % Zorgrdd

3. ¥ 5 BIo°

4. % &)

Question Number : 1 Question Id : 630680366667 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where was the 8th India-Australia Defence Policy Talks held in July 2023?
Options :

1. # New Delhi

2. % Bengaluru

3. % Canberra
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4. % Sydney

Question Number : 2 Question Id : 630680366668 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NE’ (S H H0D0E0D E0A [HELIES’ DE HBIE?

L ST (9SS 0 200365 e5(DES COrAONS TG &5 RET) ©908) SB35 (HEDES S0 SBTFBODOR.
I 2378 2023 ©°¢38, OSZ3-B0 (52) D285 T en &8 (FES S eS0T .

1L (PSS DYeHROS sDBOS0 (BB s0IFFEd T2E0) O 90AN0E.

Options :

1. % 10005 1T $35°(¢had

2. ¢ 1 083050 11T S5

3. % 1108050 1T 357553

4. % 111 0805 11

Question Number : 2 Question Id : 630680366668 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding the Maputo Protocol?

1. The Maputo Protocol was adopted by the Assembly of the African Union Heads of States and Government in 2003.
II. As of July 2023, fifty-two (52) member states had ratified the Protocol.

II1. The Protocol provides for extensive and progressive women’s rights.

Options :

1. ¥ Only I and II
2. % Only I and I
3. % Only II and III
4. % I, MM and III

Question Number : 3 Question Id : 630680366669 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In June 2023, The Indian Prime Minister pitched for the inclusion of which of the following organisation in the G20 as a member?
Options :

1. ¥ SAARC

2. % ASEAN

3. ¥ League of Arab States

4. ¥ African Union

Question Number : 3 Question Id : 630680366669 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

2023 23S & G206’ 808 T3S’ & HORXD DZNIT O BB YT TR 2386 (DTS $00(& ET°0?
Options :

1. ¥ SAARC

2. % ASEAN

3. % OF &89 @985 VE)

4. ¢ 3DES 0rAANS

Question Number : 4 Question Id : 630680366670 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

52 (SAARC)E0 H020EHO0D 808 ¢3S D HB S (D8rS?

1. 38 8 3025 19858 sS85y, 53 HD0HE0 TANBOS FDOIDA0A.
1L 006’ 38 255 Taen taoe) O.

1L 5 DTN gTeR0ES GO,

Options :

1. % 108050 11 $35°(d o

2. % 11 08050 I 55530
3.9 1 08050 I S35
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4, % 1,11 0805 11

Question Number : 4 Question Id : 630680366670 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding SAARC?

L. It was established with the signing of the SAARC charter in Dhaka on 8 December 1985.
II. It comprises of six member states.

III. The secretariat of the SAARC is in Kathmandu.

Options :

1. % Only I and II
2. % Only II and IIT
3. % Only I and III
4. % [, Il and I

Question Number : 5 Question Id : 630680366671 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & 2rEB0H KOS 2023ADS S° 3G (DOE3OR BIS) 028 EHTIAOD T DN DB 2N K0?
Options :

1. ¥ S

2. % Srsdd

3. % 2°007erS

4. ¥ 23005$5°%

Question Number : 5 Question Id : 630680366671 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following Indian cities, post office is being constructed using 3D printing technology in April 2023?
Options :

1. ¥ Varanasi

2. ®¥ New Delhi

3. # Hyderabad

4. ¥ Bengaluru

Question Number : 6 Question Id : 630680366672 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SS T DNEDNCIE DOGESE By ETmarrB0 201368 S TH0vnB08.
Options :

1. % &S | DTT

2. % DPS0T3

3. ¥ SPOASrea

4. % SNFICD

Question Number : 6 Question Id : 630680366672 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India’s first synthetic rubber plant was established in in 2013.
Options :

1. ¥ Uttar Pradesh

2. # Madhya Pradesh

3. ¥ Haryana

4. ¥ Tamil Nadu

Question Number : 7 Question Id : 630680366673 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“XE DE 5& €557 (DTS BHEN0 2023 HE0D 0B (HELSOES DA HBIE?
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I. CSIR 35& DF S& 7525 (Hr0°Q) BT N0R.
IL & (DTS00, BFTSR0M DOOD €59 CSIR TS, 37 1D95°5eh B BEIBN/D00EN 55 (DSBS ey Seaen
S3BAN DPOBRE DOV 2BST (DOEL (DB ) om.
Options :
T NS
2. % I (b
3. ¥ 108a%W 11 Bockw
4. % 150 B 11 5°Q 5°¢0

Question Number : 7 Question Id : 630680366673 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about “one week one lab” campaign 2023?

I. CSIR organised one week one lab campaign.

II. In this campaign, each of the 37 premier laboratories/institute of CSIR spread across the country will showcase their exclusive
innovations and technological break throughs to the people of India.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor IT

Question Number : 8 Question Id : 630680366674 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ISRO T3w&), *0B0A T°3& HB0D 808 ¢3S HBIE DE?

L QY 8red BV 9 Fr0B0N 073 (B3 @S TR0A.

1. RH — 200, RH — 300 <0850 RH — 560 ISRO O30, «0DER0 P0G0H T°TEW.
Options :

IR NN

2. % 1 (b

3. ¢ 1085w 11 Boch

4. % 1520 B 11 5°Q 5°¢0

Question Number : 8 Question Id : 630680366674 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about Sounding Rockets of ISRO?
I. ISRO has developed a series of Sounding Rockets called Rohini Series.
II. RH - 200, RH — 300 and RH — 560 are Important Sounding Rockets of ISRO.

Options :

1. % Only I

2. % Only II

3. % Both I and IT
4. % Neither I nor II

Question Number : 9 Question Id : 630680366675 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2355 192506 § A58 IOTE DTS DBE0 HBOD 0B ¢3S DBIE IE?

L. 96 28¢5 (D250¢5 § DY @0& B 028 DB A Larotd2cA0R

1L 9 ¥ DTN/ VEITSEI /D0 SO ¥ DT EE ©F SO DERNZ0H
Options :

IR NV

2. % 1 S°(ehodd

3. ¢ 10005 1T BOsy

4. % 150 B 11 5% 5°¢D

Question Number : 9 Question Id : 630680366675 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about Accelerate Vigyan Scheme of Government of India?
L. It is run by Department of Science and Technology, Govt of India
II. It’s targeted Audience are Students from the Universities/Institutes/Recognised colleges

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 10 Question Id : 630680366676 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

POCSO (Ds383€9) THEO, 2019 HOSSHOC, POCSO T3NEY DG S0 d¢3?

Options :

1. ¢ |FBES 8D QDN (D0 VH)IO 9D (Protection of Children from Sexual Offences)

2. % |IBES 8D DD (D0 FAO 2905 I eI (Protection of Children from Social Overexploitation)
3. % DIV @ DD (D0 VEISS 9D ) (Prevention of Children from Sexual Offences)

4. % DIV &8 VDN (DO FAS 2,308 Yo aNBAS (Prevention of Children from Social Overexploitation)

Question Number : 10 Question Id : 630680366676 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of POCSO (Amendment) Act, 2019, what is the full form of POCSO?
Options :

1. ¢ Protection of Children from Sexual Offences.

2. % Protection of Children from Social Overexploitation.

3. ¥ Prevention of Children from Sexual Offences.

4. # Prevention of Children from Social Overexploitation.

Question Number : 11 Question Id : 630680366677 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

SASS 0DSR0E OB S 20218 H020H0D 808 (DELIS’ I JBIE?
L. 2 35028 13, 2021 BFEQ0M S §ar0I0R08.

L. 98 3, 5, 8 OO 10 HSKBIOE 33753 DS ST0IDR0E.

Options :

T NG

2. % I Jr(edodd

3.9 1085w 11 Boch

4. % 150 B 11 5°Q 5°¢D

Question Number : 11 Question Id : 630680366677 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about National Achievement Survey 2021?
L. It has been conducted throughout the country on November 13, 2021.
II. It has been conducted only for class 3, 5, 8 and 10.

Options :

1. % Only 1

2. % Only II

3. ¥ Both I and Il
4. % Neither I nor I

Question Number : 12 Question Id : 630680366678 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct about NAMASTE Scheme?
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L. It is joint venture of Ministry of Social Justice and Empowerment with Ministry of Housing and Urban affairs.
II. This Scheme is for sanitation workers.
II1. It was launched in August 2022.

Options :

1. % Only I and I
2. % Only II and III
3. ¥ Both I and IIT
4, 1, [l and I1I

Question Number : 12 Question Id : 630680366678 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

350 (NAMASTE) 96980 800 808 a7¢3¢3° OB (D8 d6?
L RO KTRT690, DEIED 3539TPTE S00(E3¢h § FDS I8 D AN0, ATOS B 00(E3¢5 ¢ T TINEY 2°0N0ES
3050.

I1. && HHEO0 J*OHS 526500 §H0.

1L 2 2022 &3S’ ZFS0D0IDE0E.

Options :

1. % 10005 1T $35°(¢had

2. % 1 08050 I 55| eb a0

3. % 10005 111 ok

4.9 1,11 D83 IIT

Question Number : 13 Question Id : 630680366679 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
B TP ROBDCOG:

OGS0 ¢Sz DD Gotto
| | o3RG P 004 - 2023 1 | Ps0d T
Il | PM — DAKSH cara D | DD

[we]

Options :

1. % I-1, [1-2, I11-3
2. % [-2,1I-1, III-3
3. % -3, 11-2, I11-1
4. % 1-2, 11-3, I1I-1

Question Number : 13 Question Id : 630680366679 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Scheme Focus Area

I | YASASVI Enfrance Test — 2023 1 | Comprehensive Rehabilitation

2

II | PM—-DAKSH Yojana Education

I | SMILE Scheme 3 | skill Development

Options :

1. % -1, 112, 11I-3
2. % [-2,1I-1, II-3
3. % [-3,11-2, 11I-1
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4. % 1-2, 11-3, I1I-1

Question Number : 14 Question Id : 630680366680 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'BRPOND0 W - SONS 025 Ty 808 2365063 DB DB 236538 Y20 30E?
L. DD0R 46 - Ca0Cl,

1. 35720000 3°3°3)& - NH,OH,

Options :

I NN

2. % 1 (b

3. % 108a% 11 Bockw

4. % 1520 B 11 5°Q 5°¢0

Question Number : 14 Question Id : 630680366680 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘chemical name — chemical formula’ is/are correctly matched?
I. Bleaching powder — CaOCl,

II. Ammonium hydroxide — NH4OH,
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. ¥ Neither I nor II

Question Number : 15 Question Id : 630680366681 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
£ TP 2Sa0od::

w2e92% eoeathd E3a0600

| | b ] &‘.‘5’5":}@.‘5 oirFaas

[l .3533(]_;3“0:5.) 2 ?\3@5 airDG

1l 360776 3 @Dgg oires

Options :

1. % -1, 112, 11I-3
2. % [-2,1I-1, II-3
3.9 -3, 11-2, 1111
4. % [-1,11-3, I1I-2

Question Number : 15 Question Id : 630680366681 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Natural Source Acid
I Curd | Oxalic Acid
I Lemon 2 Citric Acid

111 Tomato 3 Lactic Acid
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Options :
1. % 1-1,11-2, 11I-3
2. % 12,111, 1I-3
3. ¢ -3, 112, 1lI-1
4. % 1-1,11-3, 11I-2

Question Number : 16 Question Id : 630680366682 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S35 0% BRFOHTE (2T 000D 08 7¢3° DI DE?

L. HOL) €658 DOFOAONERE VOO DBIYEN BTN YK THE0 9TE BEY DBAOA.
IL 3D D& DT°5386d 55390 8 .50 TODH22¢Q 28H©E0 e DA B ID?

Options :

1. % T So(ebad

2. % I X0 (ed5

3. ¥ 100a%W 11 Bockr

4. % 1520 B 11 5°Q 5°¢0

Question Number : 16 Question Id : 630680366682 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about the effects of agrochemicals?
L. Use of inorganic fertilisers and pesticides has increased manifold for enhancing crop production.
II. These are also toxic to non-target organisms that are important component of the soil ecosystem?

Options :

1. % Only

2. % Only II

3. % Both I and II
4. ¥ Neither I nor 11

Question Number : 17 Question Id : 630680366683 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80B¢3S" S8 eI DEBOD, TS ErOTBrH0 TR0 e ¢ TONO T ST° D3 255658 OT SP0 IE?
Options :

1% 383 He3 &HTriio

2. % 358 e QB g57€a

3. % 385 HE3 HOESe

4. ¢ 385 de3 B gn0h

Question Number : 17 Question Id : 630680366683 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is a way of increasing the availability of water by collecting rainwater and storing it for later use?
Options :

1. ¥ Rainwater utility

2. ¥ Rainwater management

3. ¥ Rainwater treatment

4. ¢ Rainwater harvesting

Question Number : 18 Question Id : 630680366684 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 T¢3S° Q FATO D0 HO DeINEEN HOTIW S0 § AHO HOLBJN0E?
Options :

1. % 2080

2. ¥ 933

3. ¢ 5200
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4. % DO Bl

Question Number : 18 Question Id : 630680366684 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bone and tooth decay is caused due to the deficiency of which of the following nutrients?
Options :

1. % Iron

2. % Jodine

3. % Calcium

4. % Vitamin Bl

Question Number : 19 Question Id : 630680366685 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Bad ) RSDON oG

&}go 2B0ANED

| eaN B 1 gBen

I wgﬁec:“ 5 | @

Options :

1. % 1-3,11-2, I1I-1
2. % -2, 1I-1, I-3
3. % -1, 11-3, 111-2
4. % [-2,11-3, I1I-1

Question Number : 19 Question Id : 630680366685 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Phylum Animals
I Annelida Ll | Scorpion
II | Arthropoda 2 |Leech
I | Mollusca 3 | Octopus
Options :
1. % 1.3, 11-2, I1I-1

2. 122, 1I-1, 1113
3. % 1.1, 11-3, 1112
4. % 1.2, 11-3, 11I-1

Question Number : 20 Question Id : 630680366686 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 e3¢5 & 'S0 - NN’ B3eh SO 23HNSIDB0E?
L 2OE ETEN — IFRew

1. |23 ETeN - DSBS ew

Options :

1. % TS

2. ¥ 11 S°(¢H o
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3. % [H80%W 11 BOs®
4. % 52 S 11 5°Q 5°C0

Question Number : 20 Question Id : 630680366686 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Phylum — Plants’ is correctly matched?
I. Pteridophytes — Mosses
II. Bryophytes — Liverworts

Options :

1. % Only I

2.9 Only II

3. #% Both I and II
4. ¥ Neither I nor II

Question Number : 21 Question Id : 630680366687 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct outcome of use of remote sensing in flooded areas?
L. It provides quantitative information on the damages that have occurred.
II. The flood wave progression and recession can be continuously monitored.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor 11

Question Number : 21 Question Id : 630680366687 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

33 (FoTS’ BRFE VJOFD EDTIPAOIH0 SO 808 e3¢ DB HOS0 DE?
L. 28 S0BAODS Sarer DOIFETe5 8 QIPTTT™R) WOANOA.

I 53¢ HEHE 08350 SH& AB0SE0 HEFIE 0TI,

Options :

T NS

2. % I Jr(eda

3.9 1085 11 Bocsw

4. % 15 11 5°Q 5°¢0

Question Number : 22 Question Id : 630680366688 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (HELIOS’ DA HTIE?

L. 3B 5 s00(8¢h § T°P 9RO DB (DT OE SBS SH0|86h § T,
I1 2855 DHREE e3875 S00(E36¢5 ¢ Fo) SO 00|36 § F°2.

IIL 300 DIROEL PO D035 ¢ oD SIS D0(E3¢5 § T,
Options :

1. ¢ 108050 11 S5

2. % 11 08050 I 55|50

3. % T 08050 I S5

4. % 1,11 068w 111

Question Number : 22 Question Id : 630680366688 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?

I. Ministry of Railways is nodal ministry for railway accidents.

II. Ministry of Health is nodal ministry for biological disaster.

III. Ministry of Home Affairs is nodal ministry for chemical disaster.

Options :
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1. % Only I and II
2. % Only Il and III
3. % Only I and 111
4. % [, Il and II

Question Number : 23 Question Id : 630680366689 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S’ DO 2T HDE DD 52?2
Options :

1. % 25r8oren

2. % D SHorew

3. % 80c8580%en OADCCo

4. ¢ ZB)en

Question Number : 23 Question Id : 630680366689 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the followings is NOT a Geological Disaster?
Options :

1. % Earthquakes

2. % Large fires

3. % Landslides

4. ¥ Droughts

Question Number : 24 Question Id : 630680366690 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UN 08503 IDNDR 338} DG S0 Dae3?

Options :

1. ¥ R083) A3 B3& HO TS (200 8¢ S (International Decade for Natural Disaster Reduction)

2. % 308008 &3E HO IS G23rd 8¢8E S (Indian Decade for Natural Disaster Reduction)

3. % 0800 BIOVOE HB INBS (383"@6 B8 .S (Indian Development for Natural Disaster Reduction)

4. % %}O@égééé BIOVINOE HB JES &8"@6 8¢8.S (International Development for Natural Disaster Reduction)

Question Number : 24 Question Id : 630680366690 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of IDNDR named by the UN?
Options :

1. # International Decade for Natural Disaster Reduction
2. % Indian Decade for Natural Disaster Reduction

3. # Indian Development for Natural Disaster Reduction

4. % International Development for Natural Disaster Reduction

Question Number : 25 Question Id : 630680366691 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 T¢3S° B TOW NS S0 5°CH?
Options :

1. % Je>)0 Bgy e3¢0

2. % SRESE)D

3.% 5,88

4. ¥ grtien

Question Number : 25 Question Id : 630680366691 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
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Which of the following is NOT a gaseous air pollutants?
Options :
1. # Oxides of sulphur
2. ¥ Hydrocarbons
3. % Ozone
4. ¥ Fumes

Question Number : 26 Question Id : 630680366692 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 2350 €5eH IS TR HOFD DE?
Options :

1. % HEIS HX5D oS

2. ¥ DY DB

3. % 2000 Q80 GBoy Sorrdo

4. % BEIBS 586

Question Number : 26 Question Id : 630680366692 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following industries produce gypsum?
Options :

1. # Thermal power plant

2.+ Fertilizer industry

3. # Iron and steel plant

4. % Textile factory

Question Number : 27 Question Id : 630680366693 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 e3SS° B PGB0 2TITTLR e DEVED?
Options :

1. ¥ 088

2. % &3S

3% Je3 esDB

4. % 28R A3

Question Number : 27 Question Id : 630680366693 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is commonly known as biogas?
Options :

1. ¥ Methane

2. % Ethane

3. % Water vapour

4. % Carbondioxide

Question Number : 28 Question Id : 630680366694 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT’ DTAS 90T DNEI?

Options :

1. ¢ 38 2.8 D3NS De3eS” FATZ DEHECH0 B0 8 EOT De3 H9T50.
2. % 38 380 A3 A S'ared 5230 A8 EOT 5328 ST 50.

3. % 238 2,8 O30S DS FASTOZ DEHECH0 B0 Q8 EOT 052 S9T°RS0.
4. % 8 B0 S’ A Sre s30T 8 EOT e90Te H9T°50.
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Question Number : 28 Question Id : 630680366694 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is Eutrophication?

Options :

1. ¥ It is the natural aging of a lake by nutrient enrichment of its water.

2. % It is the natural aging of a lake by nutrient deficiency of its water.

3. % It is the unnatural aging of a lake by nutrient enrichment of its water.

4. % It is the unnatural aging of a lake by nutrient deficiency of its water.

Question Number : 29 Question Id : 630680366695 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

8083 2reard) AoHO(BOT SrP0 DE?

L. 35723 QOT DATITR), $H0dcs0.

11. %8 DATIrti0 TBEY FPeNT5R), BRDSIS0.
L €968 DET3 $HoTHe0.

Options :

1. % 10005 1T 8357 ¢had

2. % 11 08050 I &S5°(ehadd

3. % 10005 1T Bockr

4.9 1,11 0005 T

Question Number : 29 Question Id : 630680366695 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a way to control global warming?
I. Cutting down use of fossil fuels.

II. Improving efficiency of energy usage.

II1. Reducing deforestation.

Options :

1. ¥ OnlyIandII
2. % Only II and 111
3. % Both I and III
4. % 1, 1l and 111

Question Number : 30 Question Id : 630680366696 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is known as “Green fuel”?

Options :

1. # Fuel obtained with plastic waste has high octane rating. It contains lead and is known as green fuel.

2. ¥ Fuel obtained with plastic waste has low octane rating. It contains lead and is known as green fuel.

3. % Fuel obtained from plastic waste has high octane rating. It contains no lead and is known as green fuel.

4. % Fuel obtained from plastic waste has low octane rating. It contains no lead and is known as green fuel.

Question Number : 30 Question Id : 630680366696 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

808 ¢3S B, "I Hrs0HS" 9 DN S?

Options :

1. % U8 35T ©D0T 0G0 90 &3S Be30A EOA G0N0, B 10X EOA G0N0 HBTIM AA
BS 2080 @ Denad.

2. % PVE S5T°OS 0T RS0 550).85 &35S B3R AN G0N0, BE N0 EOA G0N0 HEAKW
AA IBS ROBS0 @ DenTED.

3. ¢ VE H5T°0 0BG ©DOT ROBN0 9HE &3S B3N OB G0N0A. Y0NS’ VN0 &OCEEd HEAM I
BS 2080 ©0ErS.

4. % T $5T°0 HOG ODOT BOI0 5350765 &3S BE30AD EON G0N0, YO DO &OCHEN HEIW
AA AS R0B850 e90erSy.
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Question Number : 31 Question Id : 630680366697 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DOoeh H0B© 38 S FEE H0200500 0B ¢3S HBIE IE?

L S0AVDS 0835 B (F°0E 358 232D D230 TONETE A NS0 Do hBodddod.
1. &8 A FGBLIOMT 3550 GO FS3I.

11 38 DABH0, BSFEO 0 TOBE SOOI 80285 DY BB D Fo.

Options :

1. % 10005 1T $35°(¢had

2. % 1 08050 M 55| eb o0

3. % 1308050 1T &33°(ed o

4, ¥ 1,11 HOA8W 111

Question Number : 31 Question Id : 630680366697 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding powder of kernel of tamarind seeds?

L. It has been found to be an effective material to make municipal and industrial waste water clean.
II. This powder is usually discarded as agricultural waste.

III. It is non-toxic, biodegradable and cost effective material.

Options :

1. % Only I and I
2. % Only II and III
3. % Only I and III
4.9 1, [l and I1I

Question Number : 32 Question Id : 630680366698 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
O GBS DO TONSS 2TESTIOS HHEIITE) DT OIS, TENOS &S, I, G TeneddD
JrDRNOB.
Options :
1. % 5O ZoY
2. % J0é 23enen
3.9
4. % J0°s°©0

Question Number : 32 Question Id : 630680366698 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
refers to the strong, gusty, hot, dry winds blowing during the day over the north and northwestern India.
Options :
1. ¥ Kaal Baisakhi
2. % Mango showers
3. ¥ Loo

4. % Monsoon

Question Number : 33 Question Id : 630680366699 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QS DB ©e)B JOHO TANEAE (E0B LA SJ0EES DA GHTITA0TIDERS0E?
Options :

1. % 38508

2. % oS

3. % e

4. 85D

Question Number : 33 Question Id : 630680366699 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following medicinal plants is used to cure asthma and ulcers?
Options :
1. ¥ Sarpagandha
2. % Arjun
3. % Tulsi
4. ¢ Kachnar

Question Number : 34 Question Id : 630680366700 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3S '@ BZ0 - 20505900’ 256 DA HOTSE?
L S0, e echyen - SBen

I1. S0 @¢8aden - SNAY

Options :

1. % T3¢

2. % 1 X00(eH3

3. ¥ 100a%W 11 Bockr

4. % 15°0 B 11 5°Q 5°¢0

Question Number : 34 Question Id : 630680366700 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Forest type — Animals’ are correctly matched?
I. The Thorn Forests and Scrubs — Wolf
II. Mangrove forests — Crocodiles

Options :

1. % Only I

2. % Only 11

3. ¥ Both I and II
4. ¥ Neither I nor 11

Question Number : 35 Question Id : 630680366701 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SPSPOAIPE BT DO 23 180E e3¢5 BTN SO DeE BT (006" 9503203 2D HE0 dE3?
Options :

1. % 2057e < 520 < @) @

2. 8 Tp807) 20 < SO DY) < SO B

3. ¥ N < AITARB < sPodde30mr

4. % 93178 < T°0H DTS < 5N

Question Number : 35 Question Id : 630680366701 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which the following peaks of the Himalayas are correctly arranged in the increasing order of their heights?
Options :

1. ¥ Makalu < Kamet < Annapurna

2. % Namcha Barwa < Nanga Parbat < Nanda Devi

3. ¢ Kamet < Dhaulagiri < Kanchenjunga

4. % Annapurna < Namcha Barwa < Makalu

Question Number : 36 Question Id : 630680366702 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 B> BELO (D5S0, 808 &) 2S00 T°aFen a¢3 Ao DA (HSE0 e3&sed (5006 OB es8 )G 0n?
Options :
1. % rerod < 80 < OO
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2. % Iread < 180 < drerod
3. % 2850 < DHFrO%H < D rerod
4. ¢ 8)0 < IO < N0

Question Number : 36 Question Id : 630680366702 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which the following Indian states are correctly arranged in the increasing order of their sex ratio, as per Census 2011?
Options :

1. ¥ Nagaland < Sikkim < Meghalaya

2. % Meghalaya < Sikkim < Nagaland

3. ¥ Sikkim < Meghalaya < Nagaland

4. + Sikkim < Nagaland < Meghalaya

Question Number : 37 Question Id : 630680366703 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 272 BELO (DGO 80 &) 27GBOD T AFeN ¢3S e 0705 BE (D530 e8> 1§00 SO
INVORTM WY,

Options :

1. ¥ (BB < DIF07 o) < TEY

2. % 05000 @) < KBTS < T

3. % BTG < TE < 0IP0

4, % 307 < BEY < H 0SB

Question Number : 37 Question Id : 630680366703 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which the following Indian states are correctly arranged in the increasing order of their literacy rate as per Census 2011?
Options :

1. ¢ Gujarat < Maharashtra < Kerala

2. ¥ Maharashtra < Gujarat < Kerala

3. ® Gujarat < Kerala < Maharashtra

4. ¥ Maharashtra < Kerala < Gujarat

Question Number : 38 Question Id : 630680366704 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 372> BELO (DFB0 2785533 oK Q) DOeh?
Options :

1. % 929

2.9 943

3. % 949

4. % 963

Question Number : 38 Question Id : 630680366704 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

What is the sex ratio of India, as per Census 2011?
Options :

1. % 929

2. % 043

3. % 949

4. % 963

Question Number : 39 Question Id : 630680366705 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which state has the highest literacy rate in India, as per Census 2011?
Options :
1. ¥ Gujarat
2. ® Maharashtra
3. ¥ Karnataka
4. ¥ Kerala

Question Number : 39 Question Id : 630680366705 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 372 B (DSE0 2rESTIOS e sOE @08 TS5 BEN &), TR0 IE?
Options :

1. ¥ HR0o°S

2. % HHfor|

3. % 50red

4. ¢ 8%

Question Number : 40 Question Id : 630680366706 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BB 00365 5 F°D (DTHBODS BB ¢ RCHG208 2019-20 (H5°B0, 8OA a7°¢3 F8sY) VBN & e3FTed (Er0eS’
@903 )0é&.

L &b fes

1. &8 18

1L |2°& TS

Options :

1. % J-I01-I

2. ¥ 11-I-111

3. % LI

4. % L-II-1II

Question Number : 40 Question Id : 630680366706 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in the increasing order of their length of extension, as per the Railway Yearbook 201920 published by the Ministry
of Railways.

I. Metre Gauge

II. Narrow Gauge

II1. Broad Gauge

Options :

1. % II-III-1
2.9 [1-1-110
3. % I-III-11
4. % I-11-111

Question Number : 41 Question Id : 630680366707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS0 €55) @) YFEL 2050 38 D3 HOBE (BONS €25 3B L0N) 02T, $DIIB TS
2PESTFOS ) RNSE O RO .

Options :

1. % 38¢

2. ¢ SDFTCR

3. % 50red

4. % 2,87

Question Number : 41 Question Id : 630680366707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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is the first state in India Which has made rooftop rainwater harvesting structure compulsory to all the houses across the state.
Options :
1. ¥ Kerala
2. % Tamil Nadu
3. ¥ Karnataka
4. % QOdisha

Question Number : 42 Question Id : 630680366708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S arSESTFOSQ S0chsd 0TI TOND) (528 50 DE?
Options :

1. % o7 (D20eb 0

2. % 304 1D 50

3% arsBIEd

4. ¥ HomrahHed oves

Question Number : 42 Question Id : 630680366708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the third tier of government in India?
Options :

1. ® State Government

2. % Central Government

3. # Bureaucracy

4. ¥ Panchayati Raj

Question Number : 43 Question Id : 630680366709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23S e ToeSOH0ES R Db TS 80& ¢3S B H020E0DSE?
1. 30(& e

1. O°(Q e

I €530 e

Options :

1% 1.086a I

2. % 1 06A%w I

3. % 11080 I

4. 1,11 D80 11

Question Number : 43 Question Id : 630680366709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The seventh schedule of the Indian Constitution is related with which of the following?
I. Union List

II. State List

1. Concurrent List

Options :

1. % Tand II

2. % Tand III

3. % Il and III
4. ¥ 1,11 and 111

Question Number : 44 Question Id : 630680366710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 055X 2SS T7e350H0S RcHe3 0B DG SBZY T3 ), 2383 DB FH0E’ 9508 )0A.
L DA B0
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11 $35°363 9| &a3d BT SDOASN 3788 D30
IT1. @0ETASN0 QBTN

Options :

1. ¢ III-1-11

2. % III-II-1

3. ® LI

4, % IL-III-1

Question Number : 44 Question Id : 630680366710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Articles in the correct sequence of their place from first to last in the Indian Constitution.
I. Right to education

II. Prohibition of traffic in human beings and forced labour

II1. Abolition of Untouchability

Options :

1. ¥ 1II-1-11
2. % MI-I1-1
3. % I-III-11
4. % JI-111-1

Question Number : 45 Question Id : 630680366711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8083 KMNOEL 7S QS HBE E?

L. 23°565 25065 50 0T 2,5¢3 B 00T DBV Tl DS DT DSOS
IL BOC B 00T DE0YS Tl DS DB D0,

Options :

I NS

2. % 1 Jr(eda

3. ¢ 10805 1T BOcy

4. % 1520 S 11 50 5°¢0

Question Number : 45 Question Id : 630680366711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the followings is original jurisdiction of Supreme Court?
I. In any dispute between Government of India and one or more state.
II. In any dispute between two or more states.

Options :

1. % Only I

2. % Only II

3. % Both [ and II
4. % Neither I nor II

Question Number : 46 Question Id : 630680366712 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TN 0OSB0 HB0D 808 e3¢5’ HBIE NE?

L O DD )E3ER) Y DB B B® DI P00 TBODSID).
IL O DedOS 00T ¢5°8 5253 BCY TSR,

Options :

1. % TS

2. % 11 S°(ehodd

3. ¥ 1005 11 Bockr

4. % IS 5°Q 5°¢0

Question Number : 46 Question Id : 630680366712 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about Power of President?
I. The President may from time to time prorogue the houses or either house.
II. The President may from time to time dissolve the house of the people.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor I1

Question Number : 47 Question Id : 630680366713 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 75985 Frred HDOWSED DODOBOD) THAF® DB ST |00 DE?
Options :

1. ¥ SNFI > 2,37 > DHRT°S

2. ¥ SNFCD > DTS > 2,57

3. % (D230°D > AP > 2,

4. % 2,37 > ST > HRO°S

Question Number : 47 Question Id : 630680366713 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct decreasing order of states with respect to the number of their Lok Sabha seats?
Options :

1. # Tamil Nadu > Odisha > Gujarat

2. % Tamil Nadu > Gujarat > Odisha

3. % Gujarat > Tamil Nadu > Odisha

4. % Qdisha > Tamil Nadu > Gujarat

Question Number : 48 Question Id : 630680366714 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Match the following.

House Preceding Officer
I House of the people 1 Vice President
I Council of State 2 Speaker
11 State legislative council 3 Chairman

Options :

1. % I-1, I1-2, TII-3
2. ¥ -2, 1I-1, TII-3
3. % 1.3, 11-2, 111-1
4. % 1-1,11-3, I11-2

Question Number : 48 Question Id : 630680366714 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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&y TPD ea@?’.:daod.

e apocof e9dHs=h
A . . A
| &8 HEs 1 Ganmuan){a
Il Tear8s 2 ?\'3355

Options :

1. % 1-1,11-2, 11I-3
2. ¥ 12, 1I-1, 111-3
3. % -3, 112, 11I-1
4. % -1, 11-3, 1112

Question Number : 49 Question Id : 630680366715 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 8305S ¢S IO S5 D25 TINEY S50 DSBROE?
Options :

1. % 388 61

2. % 3055 71

3. ¢ 308 81

4. % 208 91

Question Number : 49 Question Id : 630680366715 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following articles explains composition of the House of the People?
Options :

1. % Article 61

2. % Article 71

3. % Article 81

4. % Article 91

Question Number : 50 Question Id : 630680366716 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

235 Toe50H0S° D e0ES 136 |D5°SE0, NDOFL @507 1IAS O 9IS TBOHEIE  Fv $8otdck.
Options :

1. ¢ PO A% (320535 )

2. % GST (¢32053D)

3. % 28

4. % 8¢ HBAM AS FHhen

Question Number : 50 Question Id : 630680366716 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Article136 of the Indian Constitution, special leave to appeal by Supreme court shall not apply to
Options :

1. ¥ Armed forces tribunals

2. % GST tribunals

3. ¥ High Court

4. ¥ District and Session Courts

Question Number : 51 Question Id : 630680366717 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
2P BHTIE (DS HO(ed .
Options :
1. ¢ Ol QO 0IVBE R
2. % (DBOT D) F0chedd
3. % 07 QDBT TR DANDBT R
4. % 33865 D) ED ONOT DONE DO

Question Number : 51 Question Id : 630680366717 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Prime Minister of India is
Options :

1. ¢ appointed by the President

2. % elected by the people

3. ¥ nominated by the President

4. % selected by the Election Commission of India

Question Number : 52 Question Id : 630680366718 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T (02065 § DO D) EDD I DB TP B0?

Options :

1. % 23865 Q) 8 Q00

2. ¥ O D)8 OO

3. % 318 DY E HONO0 €885 58506" T3 ILES ENANE
4. % (R ALEO D00 e3¢5 555065 2335 AL ES ENSB.

Question Number : 52 Question Id : 630680366718 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who conducts elections of local government bodies?

Options :

1. ¥ Election Commission of India

2. ¢ State Election Commission

3. ¥ State Election Commissioner under Election Commission of India

4. ¥ Election Commissioner of India under State Election Commission.

Question Number : 53 Question Id : 630680366719 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

1185 20°5S D550 808 DS HOT oW 0728 HODS (PRIEN) DE E?
L. HHD0IYE, I DB 0805w §¢ DoNgo.

I 357228 @9EIDEBEI0 0B 53O €9EIDEBEIO.

Options :

1. % T So(ebad

2. % 1 X00(eh5

3. ¥ 100a%W 11 Bockr

4. % 15°0 S 11 5°Q 5°¢0

Question Number : 53 Question Id : 630680366719 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following functions of the Panchayati Raj Institutions (PRIs), under the 11th schedule?
I. Animal Husbandry, Dairying and Poultry.
II. Social forestry and farm forestry.

Options :
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1. % Only I
2. % Only II
3. % Both I and II
4. ¥ Neither I nor II

Question Number : 54 Question Id : 630680366720 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SESTFOS ' TS (92065 § H0RS)0S” 80 B35S’ DE DB BSHBYDR0E?
1. 7385 T°2 5005 959 — HOTTODE T°e§ DoQen

I1. 745 T°2$005 D339 - HEED F°E 19205 50

Options :

1. % T S5o(ebad

2. % 1 X005

3.9 1 08a%W 11 BOy

4. % 1590 11 5°Q 5°¢D

Question Number : 54 Question Id : 630680366720 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is/are correctly matched, in the context of local government in India?
I. 73rd Constitutional Amendment — Panchayati Raj Institutions
II. 74th Constitutional Amendment — Urban Local Government

Options :

1. ¥ Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 55 Question Id : 630680366721 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 D0 °¢3 TWEY DB SPO(ZT0 B0 (BweHeES OB DNB SBEV) DTN TADOR?
L 2301 Dassd 238808,

1L 2755 2305 SPO(AR D0 DR0B.

111 2SS B0 IT°LE0500 (DR ASr§ Srero&osdod.

Options :

1. ¢ II-11-1

2. % I

3. % [I-I1I-I

4. % Y1111

Question Number : 55 Question Id : 630680366721 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following reform organisations in the correct chronological order (from first to last) of their establishment?
1. Bengal was partitioned.

II. The Indian National Congress was established.

III. Vernacular Press Act was enacted in India.

Options :

1. & II-11-1
2. % [I-I-111
3. % II-II-1
4. % MI-I-1I

Question Number : 56 Question Id : 630680366722 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 D0 RIES H0G WA BOAS °¢3 HBZL TS OSSNSO @S 0&.
L&Y &S

23/63



14/09/2023, 18:01
IL RT0I°D A
11 5SS DAE)
Options :
1. % [-II-I11
2. % II-11-1
3. % I1-1-11
4, & II-111-1

Question Number : 56 Question Id : 630680366722 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events in the correct chronological order from first to last.
1. Wood’s Despatch

II. Serampore Mission

III. Macaulay's Minutes

Options :

1. ¥ I-1I-111
2. % MI-I1-1
3. % II-I-11T
4. ¢ 11-111-1

Question Number : 57 Question Id : 630680366723 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“To the altar of this revolution we have brought our youth as incense, for no sacrifice is too great for so magnificent a cause”. The
aforementioned statement was said by

Options :

1. ¥ Bal Gangadhar Tilak
2. ¥ Subhas Chandra Bose
3. ¥ Bhagat Singh

4. % Lala Lajpat Rai

Question Number : 57 Question Id : 630680366723 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

188 DRSS ONTIE T30 &35 A ST, CATHIOMP EKDBZVSITI Yo, DOCHE0TE RO IS TS SEETIE WO &)
556307 YA 5°C0." S TR, 108ES T 50° THIVAR0D.

Options :

1. % 2 SO s

2. % 0270 0BT

3. ¢ 35 doh

4. % erer ©BHBTON

Question Number : 58 Question Id : 630680366724 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80O 000589 DOQOR &7°¢3 TN ANEY DT SEO(ESTR SO T®YED BOHOE?
L 3¢ ddres0

IL. (2053°2 0ed3°230

1L [*QS D330

Options :

1. % [III-IT

2. % LII-III

3. % 1111

4. TI-I-111

Question Number : 58 Question Id : 630680366724 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

24/63



14/09/2023, 18:01

Arrange the following reform organisations in the correct chronological order of their establishment?
I. Veda Samaj

II. Brahmo Samaj

III. Prarthana Samaj

Options :

1. ® I-III-11
2. % [-II-111
3. % II-I1I-1
4, & [1-I-111

Question Number : 59 Question Id : 630680366725 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tm235 DO(E0Ed DEPOHO (88 &9 D)) & 07 103N T EenHFS), (506 808 TP OB S
SO EPDRPO0 (R0EE3 N0 DO HBBY) @S o&?
L S00°Q)

1. *Hhey°d

I e85

Options :

1. % L-II-IT

2. % L-II-I10

3. % T[0T

4. [I-I-111

Question Number : 59 Question Id : 630680366725 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following kingdoms in the correct chronological order (from first to last) of their annexation by means of the Doctrine of
Lapse?

I. Jhansi

II. Nagpur

1. Awadh

Options :

1. % [-II-1T
2. % [-II-111
3. % II-111-1
4.« [1-I-111

Question Number : 60 Question Id : 630680366726 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ONS FoT 1857 &5 SNV,
Options :

1. # 23358

2. % 330)

3.8

4. % 2733

Question Number : 60 Question Id : 630680366726 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mangal Pandey was hanged to death in 1857.
Options :

1. % January

2. ¥ March

3. ¥ May

4. % July

Question Number : 61 Question Id : 630680366727 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
1RHEDN SOT @O HATR), DB EQDOTE?
Options :
1. % H06ed Sdrerow
2. % oo 008 B
3. ¢ @020 20T
4. % Q| Serow

Question Number : 61 Question Id : 630680366727 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who published the book named 'Stripurushtulna'?
Options :

1. ¥ Pandita Ramabai

2. % Rashsundari Debi

3. + Tarabai Shinde

4. ¥ Savitribai Phule

Question Number : 62 Question Id : 630680366728 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JBITOES DESST0EI (T 55 HOTLT" TILO) (3% 0D I 23°5¢5 59810 23585 e3B?
Options :

1. % 50 S

2. % 8350 ISR

3. ¢ 02 520 O

4. % 5B 2rV0M)

Question Number : 62 Question Id : 630680366728 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the Governor General of India when the Permanent Settlement was introduced?
Options :

1. ¥ Thomas Munro

2. % Richard Wellesley

3. ¢ Charles Cornwallis

4. % Warren Hastings

Question Number : 63 Question Id : 630680366729 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MGNREGA 506080 808 a3¢365° &) s00(€3¢8 § 3°8) 237¢95¢5 5o 0E?
Options :

1. % 388 Ho(eded ¢ 3°Y

2. % TRPO 53T sDO(ed¢b § 3°YD

3. & [TOETDNYE O3¢5 § T

4. % 38, 506002 HOZ.0 00(edeh ¢ F°P

Question Number : 63 Question Id : 630680366729 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Ministry is responsible for the implementation of MGNREGA?
Options :

1. % Ministry of Finance

2. % Ministry of Home Affairs

3. % Ministry of Rural Development

4. ¥ Ministry of Health and Family Welfare
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Question Number : 64 Question Id : 630680366730 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

35295 €985 B DT OE (HDI) 2021 — 228 H0D0E0D 0 T3S’ DB DE?

L 191 BFoS erEST330 13265 S0’ &0od.

1L 2020 S 202165° S073 F°50 TIFEN 563 TP DI § €965 ST TF0W.
Options :

1. % TS

2. % 1 S°(Hod

3.9 1085 11 8oy

4. % 1520 B 11 5°Q 5°¢0

Question Number : 64 Question Id : 630680366730 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about the Human Development Index (HDI) 2021 — 22?
I. India ranks 132 out of 191 countries.
II. Ninety percent countries have registered a decline in their HDI value in 2020 or 2021.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor I

Question Number : 65 Question Id : 630680366731 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S |IPdED B0EI0 TBNEY DO Hed SNTOO DE?
Options :

1. ¢ [POSBO% (IPRVED 23750500

2. % 2557 £e0e0

3. % J8%ven

4. % 35(29 J°§PB0EN

Question Number : 65 Question Id : 630680366731 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are institutional source of rural credit?
Options :

1. ¥ Regional Rural Banks

2. % Landlords

3. % Traders

4. % Moneylenders

Question Number : 66 Question Id : 630680366732 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of PLI, an initiative of government of India?
Options :

1. ¥ Privatization Liberalization Industrialization

2. % Production Linked Incentive

3. ¥ Production Linked Infrastructure

4. % Production Linked Innovation

Question Number : 66 Question Id : 630680366732 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2865 (D205 § °E 586300 @0 PLI BBNEY ARG B0 ade3?
Options :
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1. ¥ DS DBAS ODIBBAS R0 QOSSN (Privatization Liberalization Industrialization)
2. ¢ (8.8 ©0F 93)0¢3S (Production Linked Incentive)

3.% (%8S O05 ad|ar98)D (Production Linked Infrastructure)

4. % | %8S O0F A’y IAS (Production Linked Innovation)

Question Number : 67 Question Id : 630680366733 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG SAPY H0C3E)06S 808 BSOS DE DO 23658 YR0E?
L 2350603 D) - (DedgE. D)

11 HODE D) - IBE, DY

Options :

I NN

2. % I (b

3. % 1.08a%w 11 8o

4. % 1520 B 11 5°Q 5°¢0

Question Number : 67 Question Id : 630680366733 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is/are is correctly matched, in the context of revenue receipts?
I. Gift tax - Direct tax
II. Wealth tax - Indirect tax

Options :

1.+ Only I

2. % Only II

3. % Bothland II
4. % Neither I nor II

Question Number : 68 Question Id : 630680366734 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

REP2ES GOD0STAEED (Disinvestment) @O0T) HDT a7erd 8 DE000G0.
Options :

1. ¥ 525000 S3°0xE

2. % 30 378,

3. % e 8 B o

4. ¥ | D3 doYen

Question Number : 68 Question Id : 630680366734 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Disinvestment means selling of public share to a
Options :

1. % capital market

2. % money market

3. ¥ non-profit organization

4. ¥ private enterprises

Question Number : 69 Question Id : 630680366735 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 e3S° O TIB5eN |SE3EBED Bd0?
L O55°23e30°0§0 W8

1L SO Kied w58

M. 5°0°5e9 889 TS

Options :

1. % 1805 1T Sr(ehad
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2. % 1 08050 I 55| eb o0
3. % 1308050 1T 33753
4, ¥ 1,11 OO I

Question Number : 69 Question Id : 630680366735 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following measures are form of privatisation?
I. Ownership measure

II. Organisational measure

II1. Operational measure

Options :

1. % Only I and I
2. % Only II and III
3. % Only I and I1I
4. 1,1 and III

Question Number : 70 Question Id : 630680366736 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0% 598 50806, GDPS’ 'G' 90T eE3?
Options :

1. ¥ 2330288

2. % BBr0ED

3. ¢ PR

4. % (rexsed

Question Number : 70 Question Id : 630680366736 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of economic growth, what does 'G' stand for in GDP?
Options :

1. ¥ Geostationary

2. # Geosynchronous

3. ¥ Gross

4. ¥ Gratuity

Question Number : 71 Question Id : 630680366737 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B DD BODCOG.

Sog Do AR
| | 388 Ddado 1 | DgOT0D ESAD AEDONOTE DOV FY HiTFaD Fo3ASS
Il |0 Do 5 | 9D GIODD IDDVR DETP ITCE0 T
1] | 2G0T SPedy SO DEFFeD | 3 | 0D A DBS” IDDUN BEE v

Options :

1. % [-1, [I-2, III-3
2. ¥ [-1, 11-3, I11-2
3. % 12, 11-1, 11I-3
4. % 1-3,11-2, 11I-1

Question Number : 71 Question Id : 630680366737 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following.

Keyword Relevance

A new agricultural technology which increased

I | Green Revolution l . . 1
agricultural production substantially

I | HYYV Seeds

[

They are not heavily dependent on chemical fertilizers

10T | Genetically Modified Seeds 3 | They could withstand high amount of fertilizers

Options :

1. % [-1,11-2, 11I-3
2. -1, 11-3, 111-2
3. % 12, 1I-1, 11I-3
4. % 1.3, 11-2, I1I-1

Question Number : 72 Question Id : 630680366738 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

D535 DOTINE |DETDE 0B, HSBS B0’ HEIQONTOS F°¢H0 &) S0P (FEI5eh ODODOE?
Options :

1. % Q05 (Energy)

2. % 550,000 SDBAN 20080

3. % OB 0830 TN

4.8 ([0 0805 D) B HBFSED

Question Number : 72 Question Id : 630680366738 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seventh Five Year Plan onwards, which sector got prominence by a sizeable percentage of resource allocation?
Options :

1. ¥ Energy

2. % Agriculture and allied

3. # Industry and minerals

4. % Village and small scale industries

Question Number : 73 Question Id : 630680366739 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FOFNE DS BTRN0 1956 35780 I5)B0B.
Options :

1. % 306563 HOTISE |HeTdE

2. ¥ B0 DOVREG (DearPE

3. % 300 HDOWNY D78

4. % D55 HOVNE |HeT P

Question Number : 73 Question Id : 630680366739 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Industrial policy resolution 1956 formed the basis of the
Options :

1. ¥ First Five Year Plan

2. % Second Five Year Plan

3. ® Fourth Five Year Plan

4. ¥ Seventh Five Year Plan
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Question Number : 74 Question Id : 630680366740 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B1s) ) RBDON G

FATHS D0 FTrOe Do
I 33.(215"5&5 e 1|8 o
1| | 3eETgES B 2 | ©oLTATD
i THOSOTF S0 AIFDNSOTT DareD BORED TP 3 | DSerarven
Options :
1. % 1-1, I1-2, III-3

2. ¥ 1.2, 11-1, 1113
3. % 1.3, 11-2, 11I-1
4. % 1.1, 11-3, 112

Question Number : 74 Question Id : 630680366740 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Social term Casual term
I Schedule Caste 1 Aadivasi
il Schedule Tribe 2 Untouchable
III Physically or mentally challenged 3 | disabled
Options :

1. % .1, 1I-2, 11I-3
2. ¥ 1.2, 11-1, 111-3
3. % 1.3, 11-2, 11I-1
4, % 1,113, 12

Question Number : 75 Question Id : 630680366741 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Commission — Headed by’ is/are correctly matched?
I. First Backward Classes Commission — Kaka Kalelkar
II. Second Backward Classes Commission — B.P. Mandal

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 75 Question Id : 630680366741 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

EDAS — S50 HPODD T B D0D0EO0D 80 BSOS DE DO 8e5HS YBOE?
L J0E3 S0EDES S$3HA EDAS - 5°5° §B8e.0

I1. B0 FNEDAN 53K EMAN - 8.2, 0SS

Options :
B NGRS
2. % 1 (b
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3.9 [ OO 11 BOC®
4. % [ 11 5°Q 50

Question Number : 76 Question Id : 630680366742 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SBOOMETE) S8 77 HBA5N &7 000 & TR0 DOV &0od?
Options :

L ¥ $S0G

2. ¥ @0\ QINTT

3. % S0

4. % ETrex

Question Number : 76 Question Id : 630680366742 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana is bordered by which state on the South and South-East?
Options :

1. # Chhattisgarh

2. ¥ Andhra Pradesh

3. ¥ Maharashtra

4. ¥ Karnataka

Question Number : 77 Question Id : 630680366743 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 o7 R0, TSMDC @00

Options :

1. % S0ome ?géﬁ AIBSO GBES 8‘838&/)5 (Telangana State Mineral Detection Corporation)

2. % B0 N DS) FBES 5°8)BAS (Telangana State Mines Detection Corporation)

3. ¥ S0 ‘?"gé DY BIOD0E 5°FHBAS (Telangana State Mines Development Corporation)

4. ¥ SOOME) ?gdﬁ MBS BRI 020E 5°F YBAS (Telangana State Mineral Development Corporation)

Question Number : 77 Question Id : 630680366743 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

In the state of Telangana, TSMDC stands for

Options :

1. ¥ Telangana State Mineral Detection Corporation
2. % Telangana State Mines Detection Corporation

3. # Telangana State Mines Development Corporation

4. ¥ Telangana State Mineral Development Corporation

Question Number : 78 Question Id : 630680366744 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMRS, T8 2D &d) 0S50 SURS  e9cHOS o &0otnod.
Options :

1. ¢ %

2. % 6

3. % 2508

4. % ¢S

Question Number : 78 Question Id : 630680366744 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Telangana, along the banks of Godavari, the State is bestowed with dense forests.
Options :
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1. ¥ teak

2. ¥ banyan
3. % bakul
4. % shrub

Question Number : 79 Question Id : 630680366745 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR B B0 & SO (DS EDSE?
Options :

TR JEARY

2. % B8

3.9 5y

4. % 50

Question Number : 79 Question Id : 630680366745 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Musi river is a major tributary of which river in Telangana?
Options :

1. ¥ Bhima

2. ¥ Godavari

3. % Krishna

4. % Wardha

Question Number : 80 Question Id : 630680366746 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2°CTerE BN TR HBXIES SNV Oe3en Ferdd & 0 De3R 0B ¢3S’ & (FBEY H0B FotHEeon?
Options :

1. ¢ 2000 (B85

2. % ASrd0h (3

3. % 5294 550 (PR

4. % 008 SHSS 8

Question Number : 80 Question Id : 630680366746 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hyderabad and its surrounding municipalities get water from the Godavari river from which of the following projects?
Options :

1. ¥ Ramagundam project

2. % Yasangi project

3. # Kaleshwaram project

4. ¥ Mission Bhagiratha project

Question Number : 81 Question Id : 630680366747 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 TR0 2015 0 2021 HSE @D IQFoS’ BN I TR0,
Options :

1. % 11%

2. ¥ 6.85%

3. % 7.25%

4. % 9%

Question Number : 81 Question Id : 630680366747 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Telangana State registered an increase of _ in forest cover from 2015 to 2021.
Options :
1. % 11%
2. ¥ 6.85%
3. % 7.25%
4. % 9%

Question Number : 82 Question Id : 630680366748 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DBOSTES Bb 5 (52625 $8) HB 5 (PLFS) [95°80, 2020-2165°, 820mred Sb 5 @30S B¢ (LFPR) O5?
Options :

1. # 555%

2. % 65.4%

3. % 77.5%

4. % 80%

Question Number : 82 Question Id : 630680366748 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the Periodic Labour Force Survey (PLFS), in 2020-21, what was Telangana's Labour Force Participation Rate (LFPR)?
Options :

1. ¥ 55.5%

2. ¥ 65.4%

3. % 77.5%

4. % 80%

Question Number : 83 Question Id : 630680366749 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

2020-2165° 15-59 % EAEE H0D0E0D) BOOMPE) TBwEy 5628 AN (WPR) O5?
Options :

1. ¥ 62%

2. % 72%

3. % 77%

4. % 80%

Question Number : 83 Question Id : 630680366749 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was Telangana’s Worker Population Ratio (WPR) for the 15-59 age category in 2020-21?
Options :

1. ¥ 62%

2. % 72%

3. % 77%

4. % 80%

Question Number : 84 Question Id : 630680366750 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

What is the name of the Telangana Government scheme launched to curtail the burden of girl marriage by providing one-time grant of
Rs.1,00,116 to unmarried girls from SC, ST, BC and Minority families with combined income of both parents not exceeding Rs.2,00,000
per annum?

Options :

1. # Dalit Bandhu

2. ¥ Rythu Bandhu

3. % Kalyana Lakshmi
4. % Arogya Lakshmi
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Question Number : 84 Question Id : 630680366750 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S50 BYE STON0 EDD D0 YO8 B. 2,00,000 ©F0 DOTIZOE GOTER, SC, ST, BC 0050 orded
B00027E TOAD DI erOEOZ0 E5°.1,00,116 2,38 00257 TONBO T ST° SNV DT 2T
038 BOMTE (025065 50 (PB0DODN NDHEO DL Dae3?

Options :

1. % 3¢ 2000

2. % Bedd 0060

3. ¢ Sorseae§ )

4. % e85 083

Question Number : 85 Question Id : 630680366751 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

200965’ BT PES ROABAS (GI) 750 @00ED) BOOMRS' 8Bererd B § D00 Todo&.
Options :

1. ¥ QES HBY 56

2. % S TSDED

3. % & HOFoen

4. % SIS e9cse)en

Question Number : 85 Question Id : 630680366751 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

The Adilabad district of Telangana is known forits | which received a Geographical Indication (GI) tag in 2009.
Options :

1. ¥ Nirmal furniture

2. # metal crafts

3. # leather industry

4. % dense forests

Question Number : 86 Question Id : 630680366752 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31 2578 2023 °¢38 BOOTTEIS” DENSS F°Neh VTS0 DOehH?
Options :

1. % 12,000 QPR

2. % 14,500 01areY

3. % 18,069 S0P ED

4. % 25,050 OMTEYD

Question Number : 86 Question Id : 630680366752 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the Installed capacity of power in Telangana as on 31 July 2023?
Options :

1. % 12,000 MW

2. % 14,500 MW

3. % 18,069 MW

4. % 25,050 MW

Question Number : 87 Question Id : 630680366753 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

DOOSTES Bb 5. B (PLFS) 0B SIS BEF (5°S0 2019-20 sDOOS0 2020-21 055, B0orreacS’ AE 50
Bew 15-59 H0XS YT SO Ked 23372 7.5% Ho 8 $00&.

Options :
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1. ¥ 5.1%
2. % 4%

3. % 45%
4. % 33%

Question Number : 87 Question Id : 630680366753 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data from Periodic Labour Force Survey (PLFS) reflects that between 2019-20 and 2020-21, the unemployment rate in Telangana
declined from 7.5% to among the working age population of 15-59 years.

Options :
1. ¥ 5.1%
2. % 4%

3. % 4.5%
4. % 33%

Question Number : 88 Question Id : 630680366754 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 U7 @OSOE 27Aen Senid SH8AS™ .
Options :

1. % rod

2. ¢ &8

3. % £376%

4. % 078

Question Number : 88 Question Id : 630680366754 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The official languages of Telangana state are Teluguand
Options :

1. ¥ Hindi

2. % Urdu

3. ¥ Kannada

4. % Marathi

Question Number : 89 Question Id : 630680366755 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMHS BITO BPS'D D028 (D0 & (DO Todod.
Options :

1. # 2028 2onoe3orhen

2. % 2020 B0 5630

3. % 020 TE) Teddven

4.¥ 2028 &S (5°)

Question Number : 89 Question Id : 630680366755 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pembarthi village in Jangaon district of Telangana is famous for
Options :

1. # Pembarthi paintings

2. # Pembarthi leather works

3. # Pembarthi wooden crafts

4. % Pembarthi metal crafts

Question Number : 90 Question Id : 630680366756 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
SERP @3 S0 (020508 58)¢3 OIFONE QT°690. SERP Ve DO .
Options :
1. % FAS 3 6D IODTEI0R ESS 58 (Social way of Eliminating Rural Poverty)
2. % PFAS ©90& JETWE BID20E 39 SrSS P38 (Social and Economic development of Rural Poverty)
3. ¢ 3 D0 AONTAS 6D ESS >e58 (Society for Elimination of Rural Poverty)
4. % | D88 HB ETNE ('S 3D SrSS 2759 (Structure for Economic growth of Rural Poverty)

Question Number : 90 Question Id : 630680366756 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SERP is a sensitive supportive structure of Telangana Government. SERP stands for
Options :

1. ¥ Social way of Eliminating Rural Poverty

2. % Social and Economic development of Rural Poverty

3. ¢ Society for Elimination of Rural Poverty

4. # Structure for Economic growth of Rural Poverty

Question Number : 91 Question Id : 630680366757 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOomrereS’ Fe57,008 FS &d) DO e S 0y 9BE S S HOBE £ D0 AT, TZNEY AT -
DINT ©953°0 ) 0D DB B B0 TFentH0d.

Options :

1. ¢ dd0205 2022

2. % 00 2022

3. % ddoab 2021

4. % 3020 2021

Question Number : 91 Question Id : 630680366757 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Award of distinction from UNESCO’s Asia-Pacific Awards for Cultural Heritage Conservation was won by step-wells of the Golconda
fort of Telangana in

Options :

1. ¥ November 2022
2. % September 2022
3. % November 2021
4. % December 2021

Question Number : 92 Question Id : 630680366758 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%33 |0e8 TOAS OGN JPOS LarFen JEFar0r 250533 ORE & U7l TOAD S0He syred
DON?

Options :

1. % ST
2. ¥ SOOMED
3. % o3

4. % SFI°CO

Question Number : 92 Question Id : 630680366758 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bathukamma is a colourful floral festival of which state that is celebrated by women with exotic flowers of the region?
Options :

1. % Maharashtra

2. % Telangana
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3. # Rajasthan
4. # Tamil Nadu

Question Number : 93 Question Id : 630680366759 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS-iPASS stands for

Options :

1. ¥ Telangana State Industrial Project Approval and Self-Certification System
2. % Telangana State Incoming Pass Approval and Self-Certification System

3. ¥ Telangana State Incoming Pass Approval and Self-Clarification System

4. ¥ Telangana State Industrial Project Approval and Self-Clarification System

Question Number : 93 Question Id : 630680366759 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS-iPASS @0

Options :

1. ¥ SO0 ?geS QO NONS (BT 9IS ©0& V) - DEDTAS DY (Telangana State Industrial Project Approval
and Self-Certification System)

(Telangana State Incoming Pass Approval and
Self-Certification System)

Q
3. % B0 WE ASEMON R YSS ©0& DS ) - TENBAS DY
Self-Clarification System)

4. % BOOMe VE R0B(NONS |FBE TS @08 VS - TEVBAS DA (Telangana State Industrial Project Approval
and Self-Clarification System)

(Telangana State Incoming Pass Approval and

Question Number : 94 Question Id : 630680366760 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S IO BOOTED T A0 9500 TN e85 ©82 I8 H020H0DNIE?
Options :

1. ¥ $HT°0§ 00D

2. % D508 DO

3. ¢ &8 B0 DL HOBE .

4. % Do DI

Question Number : 94 Question Id : 630680366760 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is related to Arogya Lakshmi scheme in Telangana state?
Options :

1. # old age pension

2. ¥ widow pension

3. % maternal and childcare

4. % disabled pension

Question Number : 95 Question Id : 630680366761 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 (23065 50 “0e L3-S 226 / 30 230-308 & IG5, IFSE0D0DN0A, /A T RO (DS ¢
FETOS SFOE HCHIF ST SHNSTIBOD B9 OO0, & IPE0 & ([E0D050E08.
Options :

1. % &00 2021

2. v 23058 2022

3. % QDS 2022

4. % QDS 2023
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Question Number : 95 Question Id : 630680366761 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana Government launched the “Mana Ooru-Mana Badi / Mana Basti-Mana Badi” scheme, which focuses on upgradation of
infrastructure facilities in government schools in the state. The scheme was launched in

Options :

1. % December 2021
2. % January 2022
3. % April 2022

4. % April 2023

Question Number : 96 Question Id : 630680366762 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20176, BOOTTED (H206 50 TROS' ) B EBOH T BEIBIS 520 D00, BOOTFES’ e sEOM
IV HOBOT B AE?

Options :

1. % 30

2. % Jrors 08

3. ¢ JBonS

4. % 860566

Question Number : 96 Question Id : 630680366762 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 2017, the Telangana Government established the Kakatiya Mega Textile Park in which district of the state, which is also the highest
cotton-growing district of Telangana?

Options :

1. # Nalgonda
2. % Suryapet
3. % Warangal

4. % Karimnagar

Question Number : 97 Question Id : 630680366763 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R — 55 DABR EHTBEAOD SATEH B 5 OIS ET°POTOZ BOOTEIS ' e3Qerer B¢’ & (TR0
VY TOLHOE?

Options :

1. ¥ & AT

2. % @©05%5y°0

3. % 5005500

4. % DB S

Question Number : 97 Question Id : 630680366763 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which village in Adilabad district of Telangana is known for Dokra metal artifacts, made by employing the lost-wax method?
Options :

1. ¥ Ushegaon

2. ¥ Ankapur

3. ¥ Kandakurthi

4. ¥ Veernapall

Question Number : 98 Question Id : 630680366764 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOore, Fe37,008 B&ST0) 9 & [B&Sr0) 805 TR0 T3NE) Q (HTB0 TR IS &od.
Options :
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1. % 0¢85 s Sorren
2. % & DOFN

3. % e JBF0
4. ¢ 5QEFen

Question Number : 98 Question Id : 630680366764 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Telangana, Golkonda trademark is tasked with publicizing the state’s under this trademark.
Options :

1. ¥ fisheries sectors

2. ¥ dairy industry

3. # leather industry

4. ¥ handicrafts

Question Number : 99 Question Id : 630680366765 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B2 HEOM (2011 B2 SELO S EOMT) 2PSSTFOS” BOMPE) T 50 T°SOS JOch?
Options :

1. ¥ 1285

2. % 145

3. % 1605

4. % 9%

Question Number : 99 Question Id : 630680366765 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the rank of Telangana state in India in terms of population (on the basis of the findings of 2011 Census)?
Options :

1. ¥ 12th

2. % 14th

3. % 16th

4. % 9th

Question Number : 100 Question Id : 630680366766 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMTE (925065 50 Behd 2000 DGO 80 T RO’ 51 EON €5d) BAOZ D03 ITVE JET°E D)
Srr0e e308 OO0 oLNOE?

Options :

1. ¥ 5,000

2.9 10,000

3. % 12,000

4. % 15,000

Question Number : 100 Question Id : 630680366766 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Rythu Bandhu Scheme of Telangana Govt. provides financial support of how many rupees per acre per year to the landowning
farmers in the State?

Options :

1. % 5,000
2. %10,000
3. % 12,000
4. % 15,000

Question Number : 101 Question Id : 630680366767 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
BOOMTE ST DIS VHE0 S (FS0DOBDE08.
Options :
1. % 3502005 2010
2. % 0§25 2021
3. % 3082014
4. ¢ 350200 2014

Question Number : 101 Question Id : 630680366767 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aasara Pension scheme of Telangana was launched in
Options :

1. % November 2010

2. % QOctober 2021

3. # March 2014

4. % November 2014

Question Number : 102 Question Id : 630680366768 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under the KCR Kit scheme in Telangana, mothers are being provided with the financial assistance of to compensate for the loss of
wages by the women during the pregnancy and postnatal period.

Options :

1. % Rs.15,000
2. % Rs.10,000
3. % Rs.12,000
4. % Rs.20,000

Question Number : 102 Question Id : 630680366768 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 Tesd 8¢5 HHE0 8003, BB SHBAN (DDFH0e5S 506 BSrer ard) 258 ToHLEE eenerdy
8% HIFAH0 O RBENT) .

Options :

1. % &5°.15,000

2. % $5°.10,000

3. ¢ $5°.12,000

4. % 5°.20,000

Question Number : 103 Question Id : 630680366769 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

SBOOTRS $0¢3 It HB0D 808 Te3¢S° A Hev50?
Options :

1. % 98 SF°D§ DO DGHF0.

2. % 28 Jp0dun dEo.

3. % 38 J53IDS @HAES HGHEO.

4. ¢ 38 85055¢3 0¢3 HBE. 5285800

Question Number : 103 Question Id : 630680366769 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Telangana, which statement is true from the following about Kanti Velugu?
Options :

1. ¥ It is an old age pension scheme.

2. % Itis a scholarship scheme.
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3. % Itis a clean drinking water scheme.

4. % It is a community eye-screening programme.

Question Number : 104 Question Id : 630680366770 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMTED 5°¢HaD DB S ©0& BB (TASK) & D05 IS0 F0tsdB0E?
Options :

1. ¥ 2014

2. % 2009

3. % 2022

4. % 2010

Question Number : 104 Question Id : 630680366770 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana Academy for Skill and Knowledge (TASK) was set up in which year?
Options :

1. ¥ 2014

2. % 2009

3. % 2022

4. % 2010

Question Number : 105 Question Id : 630680366771 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 (920 50 ) FHAD (M “BOOMTEIR $*8¢5:5*S0 (TKHH) S FE0D0N0E.
Options :

1. % 2009

2.9 2015-16

3. % 2011

4. % 2012-13

Question Number : 105 Question Id : 630680366771 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Telangana Government launched its flagship programme ‘““Telangana Ku Haritha Haram (Green Garland for Telangana)” (TKHH) in

Options :
1. % 2009
2. % 2015-16
3. % 2011
4. % 2012-13

Question Number : 106 Question Id : 630680366772 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 TR0 @SOS S8 0(C5eh SORD B IE?
Options :

1. % 30¢8)O Serp2hd

2. % 303G

3. ¢ 20T S

4. % J2rIrerd

Question Number : 106 Question Id : 630680366772 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which district has the highest road density in Telangana state?
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Options :
1. ¥ Medchal Malkajgiri
2. ®% Rangareddy
3. ¥ Hyderabad
4. % Nizamabad

Question Number : 107 Question Id : 630680366773 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 T QO DSEIAS dod$ B0 .
Options :

1. % 2009

2. % 2011

3. % 2012

4. 2014

Question Number : 107 Question Id : 630680366773 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Formation year of Telangana state was
Options :

1. % 2009

2. % 2011

3. % 2012

4.9 2014

Question Number : 108 Question Id : 630680366774 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOTTE (2065 50 'BOOMTED HOTTONE T°25 XY’ & D035 IS0 (HEE30D0E?
Options :

1. % 2020

2. % 2023

3. 92018

4. % 2015

Question Number : 108 Question Id : 630680366774 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana Government promulgated 'The Telangana Panchayat Raj Act' in which year?
Options :

1. ¥ 2020

2. % 2023

3. 92018

4. % 2015

Question Number : 109 Question Id : 630680366775 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

31 27 2023 °¢38, BOOMED TR0 IS0 2T HOWS DOeH?
Options :

1. 9 33

2. %10

3.% 23

4. % 42

Question Number : 109 Question Id : 630680366775 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

As on 31 July 2023, what is the total number of districts in Telangana state?
Options :

1.¥33

2. %10

3. % 23

4. % 42

Question Number : 110 Question Id : 630680366776 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

201965’ [BPB0DONS BOMED T (292506 § TS0 OB (K83 HHE0 Ty, 5.0 DNe3?
Options :

1. % 0S8 DI ©0O0TIR0

2. % BB DTN, DeYEN 90A0TIR0

3. % HOE [(FOTS 89S TS OO

4. ¥ P06 [0S’ 2853 9555 DOFOBOTHH0

Question Number : 110 Question Id : 630680366776 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the objective of Telangana state government programme 'Palle Pragathi' which was launched in 2019?
Options :

1. ¥ providing technical education

2. % provisioning of seeds and fertilisers to the farmers

3. ¥ enhancing the quality of life in urban areas

4. ¢ enhancing the quality of life in rural areas

Question Number : 111 Question Id : 630680366777 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (H%) §Q), (DEEISEN QI SITTOW, € (DFEIN SFBOMT § DS EN R SITTON. ) (95N
D TSLOMT BOVS TATOZ ) O €5) D @IDODSNYEIE 3°¢3Q TS0 HOHEF0TTE. @) DS D
O, ADYS JB5STOS” IO T8y S0 RS F2ES (HEEII HIET T AGON0H0A.

RIIARNIOWE

L. 2¢3S A& e TR 5°¢%.

IL §0¢b D, 27°¢3S 9908,

DS sdrd0:

L. 0 QB TR 5°¢.

IL o) dB.

Options :

1. ¢ DE5IIO0 1 37753 @900

2. % DB5OS0 I 5769530 @900

3. % 106050 11 B0 NB5RTTEN 90O ON

4. % D DB §rea® @9 0OB0IED

Question Number : 111 Question Id : 630680366777 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. No Bottle is a Glass.

II. Some Water are Bottles.

Conclusion:

I. Some Water are not Glasses.

II. All Glasses are Water.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows
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3. ¥ Both conclusions I and II follows

4. ¥ Neither conclusion follows

Question Number : 112 Question Id : 630680366778 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 %) £ 10N RH SDTOW, & (DEEISE STFEOTT §Q) DB SN Qe SDTON. BN (DEEISEN
B0 BOVS FRQTOZ £ed) O €55 EN 0INODD IE38 a7¢3Q TSSO HOHEF0TTE. €0 DS I D
O, DS JBsSTTOS” IO T8y E0T RS £ (HEEI HIET DI AGON0H0A.

ROIARNISWE

LF & 8@ K 5°¢0.

IL §Q) Fen J ew.

POTIINEVLNToF

LK & 8w I 5260,

I1. Q) F en J e.

1L K D& 0 F 5°¢%.

Options :

1. % S5O0 I 57553 @9 00800

2. % 108050 II BOC DBLRTTEN €9 DION"OW

3. % Q) DBFII0 $°cE® @9 0080

4. % DB T (85530 @ DION0E

Question Number : 112 Question Id : 630680366778 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I.NoFis K.

II. Some F are J.

Conclusion:

L NoKislJ.

II. All F are J.

III. No K is F.

Options :

1. ¥ Only conclusion II follows

2. % Both conclusions I and II follows
3. ¥ Neither conclusion follows

4. ¥ Only conclusion III follows

Question Number : 113 Question Id : 630680366779 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% £, 1DFEISN QD SDTOW, €8 DEEIS eErEOMT §Q)Y BTN RS LN, AR (DFEISeN
D ESLOMT BOVS TATOZ ) O €5) D eJDODENYEIE 3°¢3Q TS0 HOHEF0TTE. @) HESTT D
A, AN DEEITTOS” DE @850 85 50AD (DFEINOD @I T AYo0I0A.

(DEEdden:

LEQ) Tew K ew.

I @) K e N e.

DB §AII0:

LN e @) K ex.

I1. Q) T e K e.

I §Q) N e T 5°¢0.

Options :

1. % 108050 I BOC HDB$TEN €9 0DOX"ON

2. % 110605 I BO HESITEN e DOO"ON

3. % Q) DB EN eHHOTON

4. % Q DBEIIN0 e @ DIO0HD

Question Number : 113 Question Id : 630680366779 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. Some T are K.

II. All K are N.

Conclusion:

I. AIl N are K.

II. Al T are K.

III. Some N are not T.

Options :

1. ¥ Both conclusions I and III follows

2. # Both conclusions II and III follows

3. % All conclusion follows

4. ¥ Neither conclusion follows

Question Number : 114 Question Id : 630680366780 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% £, 1DFEISN QD SDTOW, €8 [DEEISD eErEOMT §QY I8 IPEN RS £2TFON. AR (DFEISEN
D ESLOMT BOVS TATOZ ) O €:5) D @IDODENYEIE 3°¢3Q TS0 HOHE0TTE). @) DS D
A, AN HEEITFTS” DE @850 85BN (DEEIN @I AYo0I0A.

RIARNIOWE

L £ 30D derssw.

I SENYSQ), derssw.

DB §AIS0:

L §) D30 0.

IL £) Jexadnd Sen).

I1. &) DD BEN) 5.

Options :

1. % HBOI0 T S5 @ DOEN0E

2. % I1 0605 I BOC HBSITEN e DOOX"ON

3. ¢ 108050 II BOC DBERTTEN €9 DION" QW

4. % ) DB FIT"EN €9~DOBI 0N

Question Number : 114 Question Id : 630680366780 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. Some red are blue.

II. All white are blue.

Conclusion:

I. Some blue are red.

II. Some blue are white.

I1. No red are white.

Options :

1. ¥ Only conclusion I follows

2. # Both conclusions II and I1I follows

3. ¥ Both conclusions I and II follows

4. % All conclusion follows

Question Number : 115 Question Id : 630680366781 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In the question given below, relationships between different elements are shown in the statements. These
statements are followed by two conclusions. Give answer:

Statements:
IM=85=2B=Q>A=K=L

Conclusions:

ILB>=K

ILLA>S
Options :

1. ¢ If only conclusion I is true
2. % If only conclusion Il is true
3. ® If neither conclusion I nor conclusion II is true

4. % If both conclusions I and IT are true

Question Number : 115 Question Id : 630680366781 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ABrbd ‘mﬁsméa‘) gélé's , DG Hroste ;iuc;‘s e doeyotren rgseaams‘ ::'J.J'ﬂf’.}aaré'avma. & DD émsé Ooch

ﬁds;ﬁévanm RI(IGTO0. DIAFET DO 'aaﬁsné:

pBLDen:

IMz5S=zB=Q>A=zK=L

:Jd?saavmm:

ILB>K
I.LA>S

Options :

1. ¢ DB S0 T (930 D230 9oNS

2. % HB5RS0 I S°(eH 0 D230 9oNS

3. % DEEII0 157 B3 HDEZII0 11 57 D& J230 500N
4. % T 00050 I BOK DEITTEN A2 NS

Question Number : 116 Question Id : 630680366782 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S1, 82, S3, S4 208050 S5 & 2N C&)S‘EG)‘CSQ 00,0 HDOWI FIBIA. S365°Q 20)© HoS S1 E0T) JE0,X.
S56°Q 201, HDOWS S2 LT 58065 D S4 OB DBV Q) BO COSETS S 2,8 D05’ 00 B
2057206 2e0)© DB 0SE 5T EX00 DaeE3?

Options :

1. % S5>82>84>83>8]

2. % S4>85>82>83>8l

3. % S1>85>S54>83>82

4.+ 32>85>84>83>8Sl

Question Number : 116 Question Id : 630680366782 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of pens in five shops S1, S2, S3, S4 and S5 are compared. Number of pens in S3 are more than only S1. Number of pens in S5 are
less than S2 but more than S4. No two shops have same number of pens. What is the correct decreasing order of pens in shop?

Options :

1. % S5>82>84>S3>SI
2. % S4>85>82>8S3>8S1
3. % S1>S85>84>S3>82
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4, % S2>85>84>83>Sl1

Question Number : 117 Question Id : 630680366783 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 D0 SDINPONS 1363 VI 5B0R. (F3Q 5378 T OB (9875357 AR, RS DA 0D )57 O JOTHEOR.
CD, CE, CF, CG, ?

Options :
1.¥ CH
2. % CD
3.% CJ

4. % MQ

Question Number : 117 Question Id : 630680366783 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CD, CE, CF, CG, ?

Options :
1.¥ CH
2. % CD
3.% CJ

4. % MQ

Question Number : 118 Question Id : 630680366784 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

28 D0 SDINPONS 1363 VS 5B0A. (F3Q 578 TR OB (D&5e07) AR, RS DA 0D Y57 DO JOTHEOR.
BMRQ, IRAB, PWJM, WBSX, ?

Options :

1. ¥ DTBI

2. % DHNM

3. ¥ DGBI

4. % DMRQ

Question Number : 118 Question Id : 630680366784 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BMRQ, IRAB, PWJM, WBSX, ?

Options :

1. ¥ DTBI
2. ¥ DHNM
3. ¥ DGBI
4. % DMRQ

Question Number : 119 Question Id : 630680366785 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

308 SBEI7E (Z0 (D5°S0, ‘AEROCITY’ @98 HX0ES €08 T7en a¢3 Sn0ch @908 S0& 258 Tohercseron. €959 )%
ST DSBS D0 SoBR) O 55 93 B0 DNE3?

Options :

1.% B

2.¥°P

3.% D

4. %]

Question Number : 119 Question Id : 630680366785 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

In the word ‘AEROCITY” the letters are replaced by the next letter as per the English alphabetical order. What will be the 5th alphabet in
the new word from the right?

Options :
1. % B
2.¥P
3.%D
4. %]

Question Number : 120 Question Id : 630680366786 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 0B 9 BB @OTEN e BN LA 5B DBHEFI0TIO. FBEIE It DY) DH0G 232 HoP O T OS I

3e0 §eay)?
253889633575204369543333253821131889633

Options :
1.¥6
2.%5
3. %8
4. %9

Question Number : 120 Question Id : 630680366786 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Consider the string given below made up of numbers from 0 to 9. How many 3’s are present at the odd numbered positions from the left of
the string?
253889633575204369543333253821131889633

Options :
1.¥ 6
2.%5
3.% 8
4. %9

Question Number : 121 Question Id : 630680366787 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 Q0Y §& 270, “TRUCKS’Q ‘RTCUSK’ @9 T°lS. @983 86 20¢S’ ‘ADVENT’ &0 (5> 86 D0¢3?
Options :

1. ¥ DEVATN

2. ¥ DAVENT

3. ¥ DAVETN

4. % DAEVTN

Question Number : 121 Question Id : 630680366787 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘TRUCKS?’ is written as ‘RTCUSK’. What is the code for ‘ADVENT’ in that code language?
Options :

1. ¥ DEVATN

2. % DAVENT

3. # DAVETN

4. ¥ DAEVTN

Question Number : 122 Question Id : 630680366788 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 QA §& 2705, ‘BACK’ 3075°Tr, ‘RACK D “4375° T T . €8 §& 2370’ ‘R°E0 50 86 dade3?
Options :

1. %5
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2. %7
3. %3
4. ¢4

Question Number : 122 Question Id : 630680366788 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘BACK’ is written as ‘3075’, ‘RACK” is written as ‘4375°. What is the code for ‘R’ in that code language?
Options :

1. %5

2.% 7

3.%3

4.9 4

Question Number : 123 Question Id : 630680366789 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[0S @98 8 DT*0, BOCES @8 50 DedreI*8 02200 DA T8 €98 & HedrI*0, TP €8 &
Q07538 H0220HO0DIE. €9e0¢3 HOVOGF) EOA ) €8 TN 23653 (8063 @98 & DeII*0: €88 €98 &
DT70) DO R.

GT:JW: HU:KX::?

Options :

1. ¥ OU : RX

2. % PS:JK

3. % BZ:UH

4. % XP:WJ

Question Number : 123 Question Id : 630680366789 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the same way as the first letter cluster is related to the
second letter cluster and third letter cluster is related to fourth letter cluster.

GT:JW: :HU:KX::?

Options :

1. ¥ OU : RX

2. % PS:JK

3. % BZ:UH

4, % XP:WJ

Question Number : 124 Question Id : 630680366790 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the same way as the first letter cluster is related to the
second letter cluster and third letter cluster is related to fourth letter cluster.

NA:QD::BG:EJ:?

Options :

1. % WJ:UH

2.% OB:TT

3. OB:RE

4. % 7X: OM

Question Number : 124 Question Id : 630680366790 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

J0EE3 €98 & DTeT0, BOED €850 DT 02200 DA TCed €F 8 Do, T°d 08 8
D0TFEAE H0220HODIE. €903 H0VOGFR) EOA €53) €8 8PN 2365 (80636 @98 & DT 0: €88 98 &
DX0T0) DOTHEOR.

NA:QD::BG:EJ::?

Options :

1. ¥ WJ: UH
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2. % OB:TT
3. ¥ OB: RE
4. % 7X . OM

Question Number : 125 Question Id : 630680366791 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D%, AN (DT 537 AT 0 D)0 Ked 98 $0/e98. T DOTHE0R.
Options :

1. ¥ FK

2. % QV

3. ¥ BG

4. % SW

Question Number : 125 Question Id : 630680366791 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ FK

2. % QV

3. % BG

4. ¥ SW

Question Number : 126 Question Id : 630680366792 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D%, e 9 T° 236500 Qe SITON. (—) TBNEY D B &), @ T°eN (-) TINEY 0B IS &)
©Z TS F0od $5)0/Q0NN0/KND0D0G0S H005r ) AN GOEFON. 2,3 5357 0/A0NN0/D0200 SLEomr
S0°C8) 2,3 GOLTAN. WD) (D&Y AITE) DO DY O &) 7Y DOTNEOR.

Options :

1. ¥ BQ-HW

2. % LT-RZ

3. % UI- AP

4. CH-IM

Question Number : 126 Question Id : 630680366792 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ BQ—HW
2. % LT-RZ
3. % UJ-AP
4. % CH-IM

Question Number : 127 Question Id : 630680366793 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D%, @S 508 33S° Toar© 1S o5 ot 0S.
3,12,42,135,417,?

Options :

1. % 1260

2. ¥ 1266

3. % 1284

4. % 1281

Question Number : 127 Question Id : 630680366793 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.
3,12,42,135,417,?
Options :
1. % 1260
2. % 1266
3. % 1284
4. % 1281

Question Number : 128 Question Id : 630680366794 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

2.83F 43T 10K 2 =48 08050 28 J 14 K 7 = 30 ©000IVS, €9:9)¢ 18 J 6 K 3 =2
Options :

1.+ 20

2.% 22

3.%23

4. % 24

Question Number : 128 Question Id : 630680366794 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If43J10K2=48and28J 14 K 7=30,then 18 J6 K3 =7
Options :

1. %20

2. %22

3.% 23

4. % 24

Question Number : 129 Question Id : 630680366795 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

) BOK DOV (90T 5°¢) HBDIBE0 338 Y0 T §0° DaDEBEI0 OBIE e80&?
6x8-9+3+5=75

Options :

1. % 8 0803 3

2. ¥ 608050 9

3. % 300809

4, % 8 08w 5

Question Number : 129 Question Id : 630680366795 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By interchanging which two numbers (not mathematical symbols) the equation will be correct?
6x8-9+3+5=75

Options :

1. % 8and 3

2.% 6and 9

3. % 3and 9

4. % 8and5

Question Number : 130 Question Id : 630680366796 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

52/63



14/09/2023, 18:01

The pie chart given below shows the number of trucks manufactured by five companies in a year. Total trucks
manufactured by all these five companies are 1080. Number of truck manufactured by a particular company is shown in

terms of degree with respect to the total number of trucks manufactured by all these five companies.

S
1\
'R
38° Q
160°

What is the difference between the number of trucks manufactured by P and R together and the number of trucks
manufactured by Q and U together?

Options :

1. ¥ 201

2.4 288

3. % 306

4. % 324

Question Number : 130 Question Id : 630680366796 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8063 @OED e w8 ";00.;3930066 DED HoDED SOIFHD e 5,0 LoD WIEPB0D. & D S0DeD

SOIPD S0 D0Go HE) L 1080. & DA SoDID SOTPD B VG0 L)L VoAYD VoSN DD 6D

S0IPED BAD Y © Doy Ef DO SrDCS.

o Q
R Q

385 160°

P 208050 R en $82 airdh S £5),0 Doy cndain Q &0dain U en s8R $oir S0 §5),0 Doay &S0y

(1) 2650 Joes?
Options :
1. % 201
2.9 288
3. % 306
4. % 324

Question Number : 131 Question Id : 630680366797 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
I need new dress for my birthday.

Options :
1.¥a

2. % an

3. # the

4. % No article

Question Number : 131 Question Id : 630680366797 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
I need new dress for my birthday.

Options :
1.¥a

2. % an

3. ¥ the

4. ¥ No article

Question Number : 132 Question Id : 630680366798 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
New York City is the most expensive city in the world.

Options :

1. % A

2. % An

3. % The

4. ¥ No article

Question Number : 132 Question Id : 630680366798 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
New York City is the most expensive city in the world.

Options :

1. % A

2. % An

3. % The

4. % No article

Question Number : 133 Question Id : 630680366799 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
I am going to United States next month.

Options :

1. % a

2. % an

3. ¥ the

4. ¥ No article

Question Number : 133 Question Id : 630680366799 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
I am going to United States next month.

Options :
1. % a
2. % an
3. ¥ the

4. % No article

Question Number : 134 Question Id : 630680366800 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Students love to go to the computer lab because it is the room in the school.

Options :
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1. % cool
2. % cooler
3. % coolest

4. ¥ cooling

Question Number : 134 Question Id : 630680366800 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Students love to go to the computer lab because it is the room in the school.

Options :
1. % cool
2. % cooler
3. ¥ coolest

4. % cooling

Question Number : 135 Question Id : 630680366801 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Julia bhatt’s latest movie is quite

Options :

1. ¥ refreshing
2. * interested
3. ¥ bored

4. ¥ entertainment

Question Number : 135 Question Id : 630680366801 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Julia bhatt’s latest movie is quite

Options :

1. ¥ refreshing
2. % interested
3. ¥ bored

4. % entertainment

Question Number : 136 Question Id : 630680366802 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.
He will played the piano for all the guests.

Options :

1. ¥ He will

2. ¥ played the piano
3. # for all the guests.

4. % No error

Question Number : 136 Question Id : 630680366802 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.
He will played the piano for all the guests.

Options :

1. % He will

2. ¢ played the piano
3. # for all the guests.

4. % No error
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Question Number : 137 Question Id : 630680366803 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in List A with their meanings in List B.

A B
(1) | Hit the sack (i) Stuck in a difficult circumstance with no escape
(2 Back against the wall (il) Go to sleep
(3) | Beat around the bush (iii) To avoid talking about what is important
(4) | Your guess is as good as (iv) I don’t know
mine

Options :

L% (1) - (iii); (2) — (1); (3) — (ii); (4) — (iv)
2. % (1) - (id); (2) — (iii); 3) = (0); (4) — (iv)
3.% ()= (i) (2) - (i); (3) — (iii); (4) - (iv)
4.9 (1) - (id); (2) - (i); (3) — (iii); (4) — (iv)

Question Number : 137 Question Id : 630680366803 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in List A with their meanings in List B.

A B
(1) | Hit the sack (i) Stuck in a difficult circumstance with no escape
(2 Back against the wall (ii) Go to sleep
(3) | Beat around the bush (iii) To avoid talking about what is important
(4) | Your guess is as good as (iv) I don’t know
mine
Options :

L% (1) = (ii); (2) - (1) (3) = (iD); (4) = (iv)
2. % (1) = (ii); (2) — (ii); (3) = (0); (B = (iv)
3.8 ()= (); (2) = (ii); (3) — (iii); (4) — (iv)
4.9 (1) = (ii); (2) = (i); (3) — (iid); (4) — (iv)

Question Number : 138 Question Id : 630680366804 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair of proverbs is correct?
I. Absence makes the heart grow fonder/ Being away from someone for some time makes you appreciate that person more
II. You can lead a horse to water, but you can’t make him drink it/ It is better to be cautious than to have regrets later

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 138 Question Id : 630680366804 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair of proverbs is correct?

I. Absence makes the heart grow fonder/ Being away from someone for some time makes you appreciate that person more

II. You can lead a horse to water, but you can’t make him drink it/ It is better to be cautious than to have regrets later
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Options :
1. % Only I
2. % Only II
3. % BothIand II
4. ¥ Neither I nor II

Question Number : 139 Question Id : 630680366805 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair follow the word — antonym relation?
I. Monotonous — Intriguing

II. Spurious — Genuine

II1. Servitude — Bondage

IV. Deplorable — Disgusting

Options :

1. % Only I

2. % Both I and II
3. % [ 1L III and IV
4. % Only II

Question Number : 139 Question Id : 630680366805 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair follow the word — antonym relation?
1. Monotonous — Intriguing

II. Spurious — Genuine

II1. Servitude — Bondage

IV. Deplorable — Disgusting

Options :

1. % Only I

2. % Both I and II
3. % [ 1L I and IV
4. % Only II

Question Number : 140 Question Id : 630680366806 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair follow the word — synonym relation?
I. Corpulent — Round

II. Starving — Hungry

II1. Short — Upswept

IV. Creepy — Usual

Options :

1. % Only 1

2. % Both I and II
3. % L IL Il and IV
4. % Only II

Question Number : 140 Question Id : 630680366806 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair follow the word — synonym relation?
I. Corpulent — Round

II. Starving — Hungry

II1. Short — Upswept

IV. Creepy — Usual

Options :

1. % Only 1

2. % Both I and II
3. % I 111 and IV
4. % Only II
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Question Number : 141 Question Id : 630680366807 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words in List A with their antonyms in List B.

A B
(1) Superior (i) Dip
(2) Expel (i) Modest
(3) Ascend (iii) Accept
4) Ally (iv) Foe

Options :

L% (1) - (iii); (2) - (0); (3) - (id); (4) — (iv)
2.9 (1) — (ii); (2) - (iii); (3) — (i); (4) — (iv)
3% (D) - () (2) — (i); (3) — (ii); (4) - (iv)
4% (1) - (i) (2) - (0); (3) - (ii); (4) — (iv)

Question Number : 141 Question Id : 630680366807 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words in List A with their antonyms in List B.

A B
(1) Superior (1) Dip
(2) Expel (ii) Modest
(3) Ascend (1i) Accept
(4) Ally (iv) Foe

Options :

L% (1) - (iii); (2) - (); (3) — (i); (4) — (iv)
2.9 (1) - (ii); (2) - (iid); (3) — (0); (4) — (iv)
3% (1) = (0); (2) = (i); (3) — (iii); (4) - (iv)
4. % (1) = (ii); (2) - (1); (3) — (iid); (4) — (iv)

Question Number : 142 Question Id : 630680366808 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words in List A with their antonyms in List B.

A B
(1) Lethargy (i) Vitality
(2 Antagonist (i) Pal
(3) Despair (i) Mirth
(4 Ironic (iv) Mild

Options :

L% (1) (ii); (2) - (0); (3) — (i); (4) — (iv)
2. % (1) = (ii); (2) - (id); (3) — (0); (4) — (iv)
3.9 (1) = (i); (2) - (i); (3) — (iii); (4) - (iv)
4. % (1) - (ii); (2) - (1); (3) — (iid); (4) - (iv)

Question Number : 142 Question Id : 630680366808 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following words in List A with their antonyms in List B.

A B
(1) Lethargy (i) Vitality
(2 Antagonist (ii) Pal
(3) Despair (i) Mirth
(4 Ironic (iv) Mild
Options :

L% (1) = (iii); (2) = (0); (3) — (iD); (4) — (iv)
2. % (1) = (ii); (2) - (iii); (3) = (0); () — (iv)
3.9 (1) = (i); (2) — (ii); (3) — (iii); (4) — (iv)
4. % (1) = (ii); (2) = (1); (3) = (iiD); (4) = (iv)

Question Number : 143 Question Id : 630680366809 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences is spelled CORRECTLY?
I. Sometimes when the going gets though, we forget all the beautiful things that occur in our lives.
II. We are so caught up in the moment that we fail to appreciate what’s in front of us.

Options :

1. ¥ Only I

2.% Only II

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 143 Question Id : 630680366809 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences is spelled CORRECTLY?
I. Sometimes when the going gets though, we forget all the beautiful things that occur in our lives.
II. We are so caught up in the moment that we fail to appreciate what’s in front of us.

Options :

1. % Only I

2. Only II

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 144 Question Id : 630680366810 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences does not contain any spelling error?
I. While the lady of the home is slowly growing queiter, we can look at the home.
II. She had put aside as much as she could for months, with this result.

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. ¥ Neither I nor II

Question Number : 144 Question Id : 630680366810 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences does not contain any spelling error?
I. While the lady of the home is slowly growing queiter, we can look at the home.
II. She had put aside as much as she could for months, with this result.
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Options :
1. % Only I
2. % Only II
3. % BothIand II
4. % Neither I nor II

Question Number : 145 Question Id : 630680366811 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the options in List B to their one word substitute in List A.

A B
(1) | Abdication (i) an act of renouncing
(2 Chronology (ii) the sequential order in which past events
occur
(3) | Exonerate (iii) | to relieve as from an obligation
(4) | Gregarious (iv) | fond of the company of others
Options :

L% (1) - (id); (2) - (iv); 3) — (iD); (4) — ()
2. % ()= (@) ()~ (iv); (3) - (ii); (4) - (iii)
3.9 (1)~ (D (2) - (ii); (3) - (iid); (4) — (iv)
4% (1)~ (1) (2) - (iv): (3) — (iid); (4) — (i)

Question Number : 145 Question Id : 630680366811 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the options in List B to their one word substitute in List A.

A B
(1) Abdication (1) an act of renouncing
(2 Chronology (ii) the sequential order in which past events
occur
(3) Exonerate (iii) | to relieve as from an obligation
(4) | Gregarious (iv) | fond of the company of others
Options :

L% (1) = (iii); (2) - (iv); (3) = (ii); (4) — (D)
2% ()= (D () - (iv): (3) - (ii); (4) - (i)
3¢ (1) - (i); (2) — (i) (3) — (iid); (4) — (iv)
4% (1)~ (1) (2) - (iv): (3) — (iid); (4) - (i)

Question Number : 146 Question Id : 630680366812 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the options in List B to their one word substitute in List A.

A B
(1) | Extempore (1) the science of plants
(2 Botany (ii) the science of heredity
(3) | Genetics (1ii) on the spur of the
moment
(4) | Graphology |(iv) | the study of
handwriting

Options :

L ¥ (1) - (iii); (2) - (i); 3) — (iD); (4) — (iv)
2. % (1) - (id); (2) — (iii); 3) — (iv); () — (1)
3.% (1) = (1); (2) = (iv); (3) — (iii); (4) — (ii)
4. % (1) - (i) (2) = (1) (3) — (iv); (4) — (iii)

Question Number : 146 Question Id : 630680366812 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the options in List B to their one word substitute in List A.

A B
(1) | Extempore (i) the science of plants
(2 Botany (ii) the science of heredity
(3) | Genetics (iii)y | on the spur of the
moment
(4) | Graphology |(iv) | the study of
handwriting

Options :

L ¥ (1) — (iii); (2) - (0); (3) — (ii); (4) — (iv)
2. % (1) = (i); (2) - (iii); 3) = (iv); (4) - (D)
3.% (D)= (1); (2) = (iv); (3) — (iii); (4) — (ii)
4. % (1) = (i); (2) - (0); 3) = (iv); (4) — (i)

Is Section Default? : null

Question Id : 630680366813 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (147 to 150)

Read the following information carefully and answer the given questions.

More than 99% of all organisms that have ever lived on Earth are now extinct. Most of these just died out quietly. However, in Earth’s
history, there have been five major mass extinction events — known as the big five — during which many species became extinct at the
same time.

Each of the big five events caused at least a 40% loss of all species on Earth. Yet humans hold a particular grudge against the most recent
one, which brought a sudden end to the 160-million-year history of the dinosaurs. This was the Cretaceous-Paleogene extinction and it
happened 66 million years ago, wiping out about 75% of all species on Earth at the time. Except for sea turtles and crocodiles, no four-
legged animals bigger than 25 kg survived.

After decades of heated debate, last week, an international team of scientists with data from four independent laboratories published a
study claiming to have ended the debate. They say the 12 km-wide asteroid was the one to blame.

The study looked at rock samples collected in the crater, which is now underwater. They found a layer of terrestrial mud mixed with
“space dust” containing the element iridium, which can be found in high concentrations in meteorites but is rare in the Earth’s crust. This
layer was four times thicker in the impact crater than in the surrounding area.

The team found a 5 cm layer of sediment immediately below the limestone from the earliest Paleogene, the geologic period that began
immediately after the extinction. This thin layer of sediment had iridium concentrations of one part per billion, compared to the 0.04 parts
per billion in the Earth’s crust.

The asteroid is thought to have hit the planet at about 20 km per second, more than 50 times faster than the speed of sound in the air. Not
only did it destroy the immediate surroundings, but it also sent a cloud of vaporised rock and microscopic dust with high levels of iridium
that travelled across the Earth. The global blanket of cloud blocked out sunlight, cooled Earth’s surface for decades by up to 10°C and
triggered a global “impact winter”. The cold and dark regime was followed by large-scale photosynthesis shutdown, disrupted food webs
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worldwide and the collapse of ecosystems.

Spikes of iridium in dust from this time have been found in over 100 places around the world from America, Asia, Europe, Oceania, all
the way to Antarctica. These were first identified in findings from the 1980s.

The early studies did not win a global consensus because the evidence couldn’t link the high iridium concentrations to the Chicxulub
crater. But this new study provides this crucial link and places an important time constraint too. The dust must have deposited within just a
few decades — less than 20 years — after the impact.

Sub questions

Question Number : 147 Question Id : 630680366814 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the given passage, which of the following statements is incorrect?

Options :

1. # Cretaceous-Paleogene extinction happened 66 million years ago.

2. % No four-legged animals bigger than 25 kg survived in the most recent mass extinction events.

3. % Element iridium can be found in high concentrations in meteorites but is rare in the Earth’s crust.

4. % The asteroid not only destroyed the immediate surroundings, but it also sent a cloud of vaporised rock.

Question Number : 148 Question Id : 630680366815 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the width of the asteroid that caused major mass extinction on the earth?
Options :

1. ¥ 25cm

2. % 12cm

3. % 25km

4. % 12 km

Question Number : 149 Question Id : 630680366816 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the antonym of the word- ‘triggered’ as used in the passage?
Options :

1. % Aroused

2. % Drove

3. + Stalled

4. % Fathomed

Question Number : 150 Question Id : 630680366817 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The given passage mainly states that:

Options :

1. ¢ Scientists have found dust from the asteroid that wiped out the dinosaurs inside the crater it left.
2. % The record of microscopic organisms points towards a long-term shift.

3. # Dinosaurs might have their doomsday set in an unfortunate asteroid volcano combination.

4. % The earlier studies regarding other mass extinctions didn’t win a global consensus.

Question Id : 630680366813 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (147 to 150)

Read the following information carefully and answer the given questions.

More than 99% of all organisms that have ever lived on Earth are now extinct. Most of these just died out quietly. However, in Earth’s
history, there have been five major mass extinction events — known as the big five — during which many species became extinct at the
same time.

Each of the big five events caused at least a 40% loss of all species on Earth. Yet humans hold a particular grudge against the most recent
one, which brought a sudden end to the 160-million-year history of the dinosaurs. This was the Cretaceous-Paleogene extinction and it
happened 66 million years ago, wiping out about 75% of all species on Earth at the time. Except for sea turtles and crocodiles, no four-
legged animals bigger than 25 kg survived.

After decades of heated debate, last week, an international team of scientists with data from four independent laboratories published a
study claiming to have ended the debate. They say the 12 km-wide asteroid was the one to blame.

The study looked at rock samples collected in the crater, which is now underwater. They found a layer of terrestrial mud mixed with
“space dust” containing the element iridium, which can be found in high concentrations in meteorites but is rare in the Earth’s crust. This
layer was four times thicker in the impact crater than in the surrounding area.
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The team found a 5 cm layer of sediment immediately below the limestone from the earliest Paleogene, the geologic period that began
immediately after the extinction. This thin layer of sediment had iridium concentrations of one part per billion, compared to the 0.04 parts
per billion in the Earth’s crust.

The asteroid is thought to have hit the planet at about 20 km per second, more than 50 times faster than the speed of sound in the air. Not
only did it destroy the immediate surroundings, but it also sent a cloud of vaporised rock and microscopic dust with high levels of iridium
that travelled across the Earth. The global blanket of cloud blocked out sunlight, cooled Earth’s surface for decades by up to 10°C and
triggered a global “impact winter”. The cold and dark regime was followed by large-scale photosynthesis shutdown, disrupted food webs
worldwide and the collapse of ecosystems.

Spikes of iridium in dust from this time have been found in over 100 places around the world from America, Asia, Europe, Oceania, all
the way to Antarctica. These were first identified in findings from the 1980s.

The early studies did not win a global consensus because the evidence couldn’t link the high iridium concentrations to the Chicxulub
crater. But this new study provides this crucial link and places an important time constraint too. The dust must have deposited within just a
few decades — less than 20 years — after the impact.

Sub questions

Question Number : 147 Question Id : 630680366814 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the given passage, which of the following statements is incorrect?

Options :

1. ¥ Cretaceous-Paleogene extinction happened 66 million years ago.

2. % No four-legged animals bigger than 25 kg survived in the most recent mass extinction events.

3. # Element iridium can be found in high concentrations in meteorites but is rare in the Earth’s crust.

4. % The asteroid not only destroyed the immediate surroundings, but it also sent a cloud of vaporised rock.

Question Number : 148 Question Id : 630680366815 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the width of the asteroid that caused major mass extinction on the earth?
Options :

1. % 25cm

2. % 12cm

3. % 25km

4. % 12 km

Question Number : 149 Question Id : 630680366816 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the antonym of the word- ‘triggered’ as used in the passage?
Options :

1. ¥ Aroused

2. ¥ Drove

3. # Stalled

4. % Fathomed

Question Number : 150 Question Id : 630680366817 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The given passage mainly states that:

Options :

1. ¢ Scientists have found dust from the asteroid that wiped out the dinosaurs inside the crater it left.
2. % The record of microscopic organisms points towards a long-term shift.

3. ¥ Dinosaurs might have their doomsday set in an unfortunate asteroid volcano combination.

4. % The earlier studies regarding other mass extinctions didn’t win a global consensus.
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